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PERMUTATIONS AND COMBINATIONS

Illustration

1. lf  ,  and  are in G P, then  ,  and 

are in:

A. A.P.

B. G.P.

C. H.P.

D. none of these

n ! 3 × n ! (n + 1) ! n ! 5 × n ! (n + 1) !

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3ryQH0kvADVW


Answer: A

Watch Video Solution

2. If  then find 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

an =
n

(n + 1) !

50

∑
n= 1

an

50! − 1

50!

51! − 1

51!

1

2(n − 1) !

3. If , then  is equal toan = n(n !)
100

∑
r= 1

ar

https://dl.doubtnut.com/l/_3ryQH0kvADVW
https://dl.doubtnut.com/l/_C2YplNFkAKvS
https://dl.doubtnut.com/l/_pZ1dB0MW0xJQ


A. 101!

B. 100!-1

C. 101!-1

D. 101!+1

Answer: C

Watch Video Solution

4. 

A. 

B. 

C. 

D. none of these

Answer: C

1.1! + 2.2! + 3.3! + ....... n. n ! =

(n + 1) !

(n + 1) ! + 1

(n + 1) ! − 1

https://dl.doubtnut.com/l/_pZ1dB0MW0xJQ
https://dl.doubtnut.com/l/_u7BBJCiRtNz9


Watch Video Solution

5. Sum of the series  is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

n

∑
r= 1

(r2 + 1)r !,

(n + 1) !

(n + 2) ! − 1

n(n + 1) !

6. Find the exponent of 3 in 100!

A. 47

B. 48

https://dl.doubtnut.com/l/_u7BBJCiRtNz9
https://dl.doubtnut.com/l/_DWnqz6Cl40Lr
https://dl.doubtnut.com/l/_1q8JqpsEY6C3


C. 49

D. 46

Answer:

Watch Video Solution

7. the exponent of  in  is

A. 48

B. 24

C. 25

D. 23

Answer: B

Watch Video Solution

15 100!,

https://dl.doubtnut.com/l/_1q8JqpsEY6C3
https://dl.doubtnut.com/l/_KNVNTQxLzxeB
https://dl.doubtnut.com/l/_NQDEdr0H2QOH


8. Number of zeros in the expansion of  is

A. 22

B. 23

C. 24

D. 25

Answer:

Watch Video Solution

100!

9. The exponent of 12 in 100! is

A. 24

B. 46

C. 47

D. 48

https://dl.doubtnut.com/l/_NQDEdr0H2QOH
https://dl.doubtnut.com/l/_HUr5GXH6Adjm


Answer: D

Watch Video Solution

10. If , then  satifes the equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= 11
n+ 2C6

n− 2P2
n

n2 + n − 110 = 0

n2 + 5n − 84 = 0

n2 + 3n − 108 = 0

n2 + 2n = 0

11. If  and  then find the value of .

A. 

.n Pr = 720 .n Cr = 120 r

3

https://dl.doubtnut.com/l/_HUr5GXH6Adjm
https://dl.doubtnut.com/l/_x74bZ7Tas3gQ
https://dl.doubtnut.com/l/_VJAhzklOMMSu


B. 

C. 

D. 

Answer: A

Watch Video Solution

5

4

7

12. The number of positive intergers satisfying the in-equality

, is

A. 6

B. 8

C. 5

D. none of these

Answer:

W t h Vid S l ti

n+ 1Cn− 2 − n+ 1Cn− 1 ≤ 100

https://dl.doubtnut.com/l/_VJAhzklOMMSu
https://dl.doubtnut.com/l/_Qo7Rh7rXFzxr


Watch Video Solution

13. If 
, then find 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

15C3r = 15Cr+ 3 r.

5

4

3

2

14. If , then  is equal to

A. 4896

B. 816

C. 1632

20Cr = 20Cr− 10
18Cr

https://dl.doubtnut.com/l/_Qo7Rh7rXFzxr
https://dl.doubtnut.com/l/_aniKDqCA4WaT
https://dl.doubtnut.com/l/_lwnkZpVRi5lI


D. none of these

Answer: B

Watch Video Solution

15. If  then K belongs to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

.n− 1 C1 = (k2 − 3)
n
Cr+ 1

[ − √3, √3]

( − ∞, − 2)

(2, − ∞)

(√3, 2]

16. For  is equal to2 ≤ r ≤ n, (
n

r
) + 2(

n

r − 1
) + (

n

r − 2
)

https://dl.doubtnut.com/l/_lwnkZpVRi5lI
https://dl.doubtnut.com/l/_GAWHOtkKehlG
https://dl.doubtnut.com/l/_EEkI1YhvkSVW


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(
n + 1

r − 1
)

2(
n + 1

r + 1
)

(
n + 2

r
)

2(
n + 2

r
)

17. the value of  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

40c31 +
10

∑
r= 0

(C 40 −r
10 +r)

51C20

250C20

245C15

https://dl.doubtnut.com/l/_EEkI1YhvkSVW
https://dl.doubtnut.com/l/_npRFoR1lz3HI


Watch Video Solution

18. The value of , is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

50C4 +
6

∑
r= 1

56 −rC3

56C4

56C3

55C3

55C4

19. What is  equal to ?

A. 

B. 

.47 C4 + .51 C3 +
5

∑
j= 2

.52 − j C3

52C4

52C3

https://dl.doubtnut.com/l/_npRFoR1lz3HI
https://dl.doubtnut.com/l/_0jJ2q3rpPoQg
https://dl.doubtnut.com/l/_diMlRguLnP1s


C. 

D. 

Answer:

Watch Video Solution

51C4

53C4

20. If , then 


 is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n ≥ r

rCr + r+ 1Cr + r+ 2Cr + ...... + nCr

n+ 1Cr

n+ 1Cr+ 1

n+ 2Cr+ 1

n+ 2Cr+ 2

https://dl.doubtnut.com/l/_diMlRguLnP1s
https://dl.doubtnut.com/l/_KIAlOiisgtkS


21. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

n

∑
k=m

kCr

n+ 1Cr+ 1

n+ 1Cr+ 1 − mCr

n+ 1Cr+ 1 − mCr+ 1

n+ 1Cr+ 1 + mCr+ 1

22. The exponent of 7 in  is

A. 0

B. 2

C. 4

D. none of these

100C50

https://dl.doubtnut.com/l/_cxjB2VMsSu25
https://dl.doubtnut.com/l/_0ha67AWYdY5Y


Answer: A

Watch Video Solution

23. In a class there are  boys and  girls. The teacher wants to select

either a boy or a girl to represent the class in a function. The number

of ways the teacher can make this selection.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10 8

18

80

108

810

https://dl.doubtnut.com/l/_0ha67AWYdY5Y
https://dl.doubtnut.com/l/_s3nZziMsLKGU


24. In a class there are 10 boys and 8 girls. The teacher wants to select

either a boy or a girl to represent the class in a function. The number

of ways the teacher can make this selection.

A. 18

B. 80

C. 

D. 

Answer: A

Watch Video Solution

810

108

25. There are 3 candidates for a Classical; 5 for a Mathematical and 4

for a Natural science scholarship. In how many ways can these

scholarship be awarded ?

A. 12

https://dl.doubtnut.com/l/_j4QyDoxcOhuL
https://dl.doubtnut.com/l/_BdCo4k7I31qy


B. 20

C. 60

D. 64

Answer: C

Watch Video Solution

26. A code word of length  consists two distinct consonant in the

English alphabet followed by two digits from  to  with repetition

allowed in digits. If the number of code wards so formed ending with

an even digit is , then  is equal to

A. 7

B. 5

C. 49

D. 35

4

1 9

432 × k k

https://dl.doubtnut.com/l/_BdCo4k7I31qy
https://dl.doubtnut.com/l/_DsCaOOG0rNKq


Answer: D

Watch Video Solution

27. Five persons entered the lift cabin on the ground floor of an 8-floor

building. If each of them can leave the cabin independently at any floor

beginning with the first; find the total number of ways in which each of

the five persons can leave the cabin:

(i) at any one of the 7 floors and

(ii) at different floors.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

57, 2250

75, 2520

75, 0

35, 35

https://dl.doubtnut.com/l/_DsCaOOG0rNKq
https://dl.doubtnut.com/l/_05jDBK0oKLrU


Watch Video Solution

28. The number of ways in which n distinct balls can be put into three

boxes, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3n

n3

3n

n + 3

29. Find the total number of ways in which n distinct objects can be

put
into two different boxes so that no box remains empty.

A. 2n

https://dl.doubtnut.com/l/_05jDBK0oKLrU
https://dl.doubtnut.com/l/_BW5XAkzRKGD0
https://dl.doubtnut.com/l/_yuP9WIvKQgiM


B. 

C. 

D. 

Answer: C

Watch Video Solution

2n − 1

2n − 2

2n − 3

30. Find the total number of ways of answering  objective type

questions, each question having  choices.

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

5

4

54

45

20

9

https://dl.doubtnut.com/l/_yuP9WIvKQgiM
https://dl.doubtnut.com/l/_wtsWIX5f2DOC


Watch Video Solution

31. There are  true-false questions in an examination. Then these

questions can be answered in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10

240

20

1024

100

32. For a set of five true/false questions, no student has written all

correct answers, and no two students have given the same sequence

of answers. What is the maximum number of students in the classes,

for this to be possible?

https://dl.doubtnut.com/l/_wtsWIX5f2DOC
https://dl.doubtnut.com/l/_CMMReubjW9d0
https://dl.doubtnut.com/l/_XpurF4c7DBeO


A. 9

B. 32

C. 31

D. 24

Answer: C

Watch Video Solution

33. The number of ways in which one can post  letters in  letter

boxes, is

A. 

B. 

C. 

D. 

4 5

45

54

20

9

https://dl.doubtnut.com/l/_XpurF4c7DBeO
https://dl.doubtnut.com/l/_SkyL9Vsu1vcf


Answer: B

Watch Video Solution

34. Four die are rolled. The number of ways in which at least one die

shows 3, is

A. 625

B. 671

C. 1296

D. 1256

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SkyL9Vsu1vcf
https://dl.doubtnut.com/l/_yYrH8s5ukBgr


35. A sequence is a termary sequence, if it contains digits 0, 1 and 2.

The total numbre of teranryn sequences of length 9 which either begin

with 210 or end with 210, is

A. 1458

B. 1431

C. 729

D. 707

Answer: B

Watch Video Solution

36. The number of ways in which five distinct objects can be put into

three identical boxes so that no box remains empty is

A. 2n − 1

https://dl.doubtnut.com/l/_nSIBDgOmrO1d
https://dl.doubtnut.com/l/_AHdEqZUmH2SQ


B. 

C. 

D. none of these

Answer:

Watch Video Solution

2n − 2

2n− 1 − 1

37. A gentleman has  friends to invite. In how many ways can he send

invitation cards to them if he has three servants to carry the cards.

A. 

B. 

C. 

D. none of these

Answer: A

W t h Vid S l ti

6

36

63

18

https://dl.doubtnut.com/l/_AHdEqZUmH2SQ
https://dl.doubtnut.com/l/_qSa6YicQz6RJ


Watch Video Solution

38. There are unlimited number of identical balls of four different

colours. How many arrangements of at most 8 balls in row can be

made by using them?

A. 21845

B. 87380

C. 262140

D. none of these

Answer: B

Watch Video Solution

39. A rectangle with sides of lengths  units is

divided into squares of unit length. The number of rectangles which

can be formed with sides of odd length, is

(2n − 1) and (2m − 1)

https://dl.doubtnut.com/l/_qSa6YicQz6RJ
https://dl.doubtnut.com/l/_EARcghJBGDT5
https://dl.doubtnut.com/l/_UrpZfPScqzjp


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

m2n2

mn(m + 1)(n + 1)

4m+n− 1

40. How many -letter words, with or without meaning, can be formed

out of the letters of the word  if repetition of letters is

not allowed ?

A. 

B. 

C. 

D. 

5

EQUATIONS

126

59

95

15120

https://dl.doubtnut.com/l/_UrpZfPScqzjp
https://dl.doubtnut.com/l/_8sUAs5BOhTxc


Answer: D

Watch Video Solution

41. It is required to sent 7 men and 3 women in a row so that women

occupy the even places. How many such arrangements are possible?

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

^ (5)C3 × 3! × 7!

^ (10)C5 × 5!

^ (5)C3 × 10!

https://dl.doubtnut.com/l/_8sUAs5BOhTxc
https://dl.doubtnut.com/l/_j8GSTfkgTovF


42. Suppose that six students, including Madhu and Puja, are having

six beds arranged in a row. Further, suppose that Mudhu does not

want a bed adjacent to Puja. Then the number of ways, the beds can be

allotted to students is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

384

264

480

600

43. How many different signals can be made by 5 flags
 from 8 flags of

different colours?

A. ^ (8)C5

https://dl.doubtnut.com/l/_9Cob337cjlUj
https://dl.doubtnut.com/l/_5Xzy4pflUhOa


B. 

C. 

D. 

Answer: B

Watch Video Solution

^ (8)C5 × 5!

58

85

44. How many different signals can be given using any number of flags

from 6 flags of different colours?

A. 720

B. 1440

C. 1956

D. 1950

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_5Xzy4pflUhOa
https://dl.doubtnut.com/l/_UR17fjcCdu8f


Watch Video Solution

45. Ten different letters of an alphabet are given. Words with five

letters
are formed from these given letters. Determine the number4 of

words which
have at least one letter repeated.

A. 

B. 30240

C. 69760

D. none of these

Answer:

Watch Video Solution

105

46. The number of times the digit 3 will be written when listing the

integers from 1 to 1000 is:
300 (b) 269
(c) 271 (d) 302

https://dl.doubtnut.com/l/_UR17fjcCdu8f
https://dl.doubtnut.com/l/_Cj0RkdrVf41t
https://dl.doubtnut.com/l/_7mxa27Wgnl87


A. 300

B. 297

C. 243

D. 273

Answer:

Watch Video Solution

47. A number of 18 guests have to be seated, half on
 each side of a

long table. Four particular guests desire to sit on one
 particular side

and three others on the other side. Determine the number of
ways in

which the sitting arrangements can be made.

A. 

B. 

C. 

9! × 9!

11C5 × 9! × 9!

× 9! × 9!
11!

5!

https://dl.doubtnut.com/l/_7mxa27Wgnl87
https://dl.doubtnut.com/l/_7wl30DeGBUCf


D. 

Answer:

Watch Video Solution

11C5

48. How many different words, each containing 2 vowels and 3

consonants can
be formed with 5 vowels and 17 consonants?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5C2 × 17C3

5C2 × 5!

17C3 × 5!

5C2 × 17C3 × 5!

https://dl.doubtnut.com/l/_7wl30DeGBUCf
https://dl.doubtnut.com/l/_x81jhEKQUWSc


49. The
 number of integers greater than 6,000 that can be formed,

using the digits 3,
5, 6, 7 and 8, without repetition, is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

120

72

216

192

50. Find the sum of all the numbers that can be formed with the digits

2,
3, 4, 5 taken all at a time.

A. 

B. 

(2 + 3 + 4 + 5) × 3!

(2 + 3 + 4 + 5)( )
104 − 1
10 − 1

https://dl.doubtnut.com/l/_mX8s6Say6Os0
https://dl.doubtnut.com/l/_c92AKTv9CDvv


C. 

D. 

Answer:

Watch Video Solution

(2 + 3 + 4 + 5) × 3! × ( )
104 − 1
10 − 1

× 3! × ( )
104 − 1
10 − 1

51. The sum of all the numbers greater than 10000 formed by using

digits 0, 2, 4, 6, 8, no digit being repeated in any numbers is,

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(105 − 104)
20

9

{4(105 − 1) − (104 − 1)}
40
3

{4(105 − 1) − (104 − 1)}
20

9

20 × 4!( )
105 − 1
10 − 1

https://dl.doubtnut.com/l/_c92AKTv9CDvv
https://dl.doubtnut.com/l/_jC1w4AxGyPoq


52. A debate club consists of 6 girls and 4 boys. A team of 4 members is

to be selected from this club including the selection of a captain (from

among these 4 members) for the team. If the team has to include at

most one boy, then the number of ways of selecting the team is

A. 380

B. 320

C. 260

D. 95

Answer: A

Watch Video Solution

53. There are three sections in a question paper, each containing 5

questions. A candidate has to solve any 5 questions, choosing at least

https://dl.doubtnut.com/l/_17uH94ToPWA2
https://dl.doubtnut.com/l/_2iGAQlRMmT3V


one from each section. Find the number of ways in which the

candidate can choose the questions.

A. 

B. 

C. 2250

D. 2253

Answer:

Watch Video Solution

15C5

3C1 × 12C4

54. Let 
 be the number of

subsets of S, each containing five elements out of
which exactly 
 are

odd. Then 
210 (b)
252 (c) 125
(d) 126

A. 210

B. 252

S = {1, 2, 3.., 9}
.
F or k = 1, 2, 5, letNk

k

N1 + N2 + N3 + N4 + N5 = ?

https://dl.doubtnut.com/l/_2iGAQlRMmT3V
https://dl.doubtnut.com/l/_TM1VWXZ6LMhe


C. 125

D. 126

Answer:

Watch Video Solution

55. On how many nights may a watch of 4 men be arranged by a

security agency from a crew of 16 so that no two watches are identical.

On how many of these nights would a particular person be off-duty ?

A. 1820

B. 455

C. 1365

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TM1VWXZ6LMhe
https://dl.doubtnut.com/l/_k5P5KthuBaUk


56. A box contains 2 white balls, 3 black balls and 4 red balls. The

number of ways three balls be drawn from the box, if atleast one black

ball is to be included in the draw is …….. .

A. 84

B. 20

C. 64

D. 104

Answer: C

Watch Video Solution

57. How many diagonals are there in a polygon of n sides?

A. 
n(n − 1)

2

https://dl.doubtnut.com/l/_k5P5KthuBaUk
https://dl.doubtnut.com/l/_TgaZgkmHzbtW
https://dl.doubtnut.com/l/_COncOmdPYwgu


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

n(n − 3)

2

n(n + 1)

2

58. There are 10 points in a plane, no three of which are in the same

straight line, except 4 points, which are collinear. 

Find the number of lines obtained from the pairs of these points, 

A. 40

B. 39

C. 45

D. none of these

Answer: A

https://dl.doubtnut.com/l/_COncOmdPYwgu
https://dl.doubtnut.com/l/_QXMkOMzJUxwE


Watch Video Solution

59. In a plane there are 37 straight lines, of which 13 pass pass through

the point B. Besides, no three lines paseh both points A and B and no

two are parallel, then theline passes through both points A and B and

no number of intersection points the lines have, is

A. 533

B. 535

C. 

D. none of these

Answer:

Watch Video Solution

37C2 − 24C2

https://dl.doubtnut.com/l/_QXMkOMzJUxwE
https://dl.doubtnut.com/l/_CSLMwfu9wsZp


60. There are m points on the line AB and n points on the line AC,

excluding the point A. Triangles are formed joining these points

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(m + n − 2)
mn

2

(m + n − 1)
mn

2

(m + n)
mn

2

(m + n + 1)
mn

2

61. Let  be the number of all possible triangles formed by joining

vertices of an n-sided regular polygon. If  then the

value of n, is

A. 7

Tn

Tn+ 1 − Tn = 19

https://dl.doubtnut.com/l/_sLfT60uxGGCb
https://dl.doubtnut.com/l/_aCfJAHJtT7lt


B. 5

C. 10

D. 8

Answer: B

Watch Video Solution

62. In how many ways five different rings can be worn in four fingers

with at least one ring in each finger?

A. 120

B. 96

C. 20

D. 480

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aCfJAHJtT7lt
https://dl.doubtnut.com/l/_4RI9AgEftfPR


63. In how many ways five different rings can be put on four fingers

with at least one ring on each finger?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

120

480

240

960

64. Let A and B be two finite sets having m and n elements respectively.

Then the total number of mappings from A to B is

A. nm

https://dl.doubtnut.com/l/_4RI9AgEftfPR
https://dl.doubtnut.com/l/_qrH7wUS3Uakm
https://dl.doubtnut.com/l/_0N9TNkegmGgF


B. 

C. 

D. 

Answer:

Watch Video Solution

nCm

nCm × m !

mn

65. Two different packs of cards are shuffled together. Cards dealt

equally among 4 players, each getting 13 cards. The number of ways in

which a player get his cards if no two cards are from the same suit

with the same denomination is

A. 

B. 

C. 

D. 

52C13

213

52P13

52C13 × 213

https://dl.doubtnut.com/l/_0N9TNkegmGgF
https://dl.doubtnut.com/l/_iuGgSGGlfNiX


Answer:

Watch Video Solution

66. Prove that the no. of all permutations of n different objects taken r

at a time when a particular object is to be always included in each

arrangement is 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

r. (n − 1)Pr− 1

nCr × r !

n− 1Cr− 1 × (r − 1) !

n− 1Cr− 1 × r !

n− 1Cr × r !

https://dl.doubtnut.com/l/_iuGgSGGlfNiX
https://dl.doubtnut.com/l/_7USYsES3zkHN


67. Prove that the no. of all permutations of n different objects taken r

at a time when a particular object is to be always included in each

arrangement is 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

r. (n − 1)Pr− 1

n− 1Cr × (r − 1) !

n− 1Cr− 1 × r !

n− 1Cr × r !

nCr × r !

68. Prove that the no. of permutations of n different objects taken r at

a time in which two specified objects always occur together

A. 

2!(r − 1)(n − 2)Pr− 2

n− 2Cr− 2 × r !

https://dl.doubtnut.com/l/_u7G9ATe5mnm0
https://dl.doubtnut.com/l/_lQlOHHVhdeKf


B. 

C. 

D. 

Answer:

Watch Video Solution

n− 2Cr × r ! × 2!

n− 2Cr  2 × 2!

n− 2Cr− 2 × (r − 1) ! × 2

69. m women and n men are too be seated in a row so that no two

men sit together. If  then show that the number of wys in which

they can be seated is 

A. 

B. 

C. 

D. 

m > n

m !(m + 1) !

(m − n + 1) !

(m !n !) !

(m + n) !

m !(m + 1) !

(m − n + 1) !

m !(m + 1) !

(m + n + 1) !

https://dl.doubtnut.com/l/_lQlOHHVhdeKf
https://dl.doubtnut.com/l/_QftYUSg6dif8


Answer: A

Watch Video Solution

70. The number of ways of arranging m white and n black balls in a row

 so that no two black are placed together, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(m > n)

m+ 1Cn × n !

mCn

m+ 1Cn

m !n !

https://dl.doubtnut.com/l/_QftYUSg6dif8
https://dl.doubtnut.com/l/_6Qeu1OVHqVZM


71. Five boys and five girls form a line with the boys and girls

alternating. Find the number of ways of making the line.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(5!)2

10!

5! + 5!

2(5!)2

72. Let n be the number of ways in which 5 boys and 5 girls can stand

in a queue in such a way that all the girls stand consecutively in the

queue. Let m be the number in which 5 boys and 5 girls stand in such a

way that exactly four girls stand consecutively in the queue. Then the

value of  is ____
m

n

https://dl.doubtnut.com/l/_uyhnKj1upndj
https://dl.doubtnut.com/l/_JN3NdQPMEwCB


A. 4

B. 5

C. 6

D. 7

Answer:

Watch Video Solution

73. The number of natural numbers belonging to ,

whose sum of digits is even, is

A. 40000

B. 20000

C. 5000

D. 25000

(20000, 60000]

https://dl.doubtnut.com/l/_JN3NdQPMEwCB
https://dl.doubtnut.com/l/_lN9hc0LwZinv


Answer:

Watch Video Solution

74. The number of five digit telephone numbers having at least one of

their
digits repeated is
 
b. 
c. 
d. 69760

A. 90000

B. 27216

C. 62784

D. 15120

Answer:

Watch Video Solution

90000 100000 30240

https://dl.doubtnut.com/l/_lN9hc0LwZinv
https://dl.doubtnut.com/l/_aWpsRRacBQ9Q


75. At an election a voter may vote for nany number of candidates , not

greater than the number t be eected. There are 10 candidates and 4

are to be elected. If a voter for at lest one candidates, thene the

number of ways in which he can vote is (A) 5040 (B) 6210 (C) 385 (D)

1110

A. 5040

B. 6210

C. 385

D. 1110

Answer:

Watch Video Solution

76. The
set 
is to be partitioned into
three sets A, B, C

of equal size. Thus, 
 .

S = {1, 2, 3, , 12)

A ∪ B ∪ C = S, A ∩ B = B ∩ C = A ∩ C = φ

https://dl.doubtnut.com/l/_TmgjwS5CRm61
https://dl.doubtnut.com/l/_bv7GeOc8NWyq


The number of ways to
partition S is
(1) 
(2)
 
 (3)


(4)


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

12!

3!(4!)3

12!

3!(3!)4

12!

(4!)3

12!

(4!)4

12!

(4!)3

12!

(3!)
4

12!

3!(4!)
3

12!

3!(3!)4

77. From  different novels and  different dictionaries,  novels and 

dictionary are to be selected and arranged in a row on a shelf so that

the dictionary is always in the middle. Then the number of such

arrangements is

A. less than 500

6 3 4 1

https://dl.doubtnut.com/l/_bv7GeOc8NWyq
https://dl.doubtnut.com/l/_wu2bkJPvmf08


B. at least 500 but less than 750

C. at least 750 but less than 1000

D. at least 1000

Answer: D

Watch Video Solution

78. A man  has  friends, 
of them are ladies and 
are men. His wife 

 also has  friends, 
 of them are ladies and 4 are men. Assume 

and 
 have no common friends. Then the total number of ways in

which  and  together can throw a party inviting 3 ladies and 3 men,

so that 3 friends of each of  and 
are in the party, is :

A. 485

B. 468

C. 469

X 7 4 3

Y 7 3 X

Y

X Y

X Y

https://dl.doubtnut.com/l/_wu2bkJPvmf08
https://dl.doubtnut.com/l/_XoCXeEP1LEr9


D. 484

Answer: A

Watch Video Solution

79. How many different words can be formed with the letters of the

word
MISSISSIPPI?

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

11!

4!4!2!

11!

4!4!

11!

4!2!

https://dl.doubtnut.com/l/_XoCXeEP1LEr9
https://dl.doubtnut.com/l/_0y2WRYK5X1Dg


80. How many different words can be formed by using all the letters of

the word ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ALLAHABAD

30

(9!)

9!

2!

9!

2!4!

81. The number of arrangements that can be made with the letters of

the word 'MATHEMATICS' in which all vowels comes together, is

A. 

B. 

8! × 4!

2!2!

8! × 4!

2!2!2!

https://dl.doubtnut.com/l/_8iZP0eU8tutx
https://dl.doubtnut.com/l/_idj3wMnBpDja


C. 

D. 

Answer: B

Watch Video Solution

8!

2!2!2!

8!

4!2!2!

82. If all the letters of the word AGAIN be arranged as in a dictionary,

what is the fiftieth word?

A. NAAGI

B. NAAIG

C. NIAAG

D. NAIAG

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_idj3wMnBpDja
https://dl.doubtnut.com/l/_0BCn7PXUokis


83. If the letters of the word SACHIN are arranged in
all possible ways

and these words are written out as in dictionary, then the
 word

SACHIN appears at serial number

A. 602

B. 603

C. 600

D. 601

Answer: D

Watch Video Solution

84. The letters of the word COCHIN are permuted and
 all the

permutations are arranged in an alphabetical order s in an English

dictionary. The number of words that appear before the word COCHIN

is

https://dl.doubtnut.com/l/_2xw99BEg9BtN
https://dl.doubtnut.com/l/_q0oJPyCa1yZl


A. 360

B. 192

C. 96

D. 48

Answer: C

Watch Video Solution

85. If all the words (with or without meaning) having five letters,

formed
 using the letters of the word SMALL and arranged as in a

dictionary; then the
position of the word SMALL is :

A. 

B. 

C. 

D. 

46th

59th

52th

58th

https://dl.doubtnut.com/l/_q0oJPyCa1yZl
https://dl.doubtnut.com/l/_haMBg6mtYsoV


Answer: D

Watch Video Solution

86. how may four letter words can be formed using the letters of the

word
FAILURE so that F is included in each word?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6C4 × 4!

6C3 × 4!

6C4

6C4 × 3!

https://dl.doubtnut.com/l/_haMBg6mtYsoV
https://dl.doubtnut.com/l/_jQme5xyZv4Hq


87. The number of five-letter words containing 3 vowels and 2

consonants that can be formed using the letters of the word

'EQUATION' so that the two consonants occur together, is

A. 720

B. 1440

C. 240

D. 480

Answer: B

Watch Video Solution

88. In how many ways can 7 plus (+) and 5 minus (-) signs be arranged

in a row so that no two minus (-) signs are together?

A. 8C5 × 5!

https://dl.doubtnut.com/l/_cnG5MdtBWPMs
https://dl.doubtnut.com/l/_oVlhFD125bLy


B. 

C. 

D. 

Answer: C

Watch Video Solution

7C5 × 5!

8C5

7!

89. The number of ways in which four S come consecutively in the word

MISSISSIPPI, is

A. 420

B. 840

C. 210

D. 630

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_oVlhFD125bLy
https://dl.doubtnut.com/l/_SP2xr8KS49jX


Watch Video Solution

90. The number of ways in which four different letters can be put in

the correspondingly five addressed envelopes so that all letters are

put in the correct envelope, is

A. 6

B. 7

C. 8

D. 9

Answer:

Watch Video Solution

91. If the 13 letter words (need no be meaningful) are to be formed

using the letters from the word "MEDITERRANEAN" such that the first

https://dl.doubtnut.com/l/_SP2xr8KS49jX
https://dl.doubtnut.com/l/_gq36TTn5xyhu
https://dl.doubtnut.com/l/_zQFep2OJ5LjL


letter is R and the fourth letter is, E, then the total number of such

words, is

A. 

B. 59

C. 110

D. 56

Answer: A

Watch Video Solution

11!

(2!)3

92. In how many ways,  guests and  host can be arranged around a

circular table so that two particular guests are on either side of the

host?

A. 18!

B. 

20 1

18! × 2!

https://dl.doubtnut.com/l/_zQFep2OJ5LjL
https://dl.doubtnut.com/l/_XbnC7dsYcF7D


C. 

D. 19!

Answer: B

Watch Video Solution

18!

2!

93. There are 20 persons among whom are two brothers. The number

of ways in which we can arrange them around a circle so that there is

exactly one person between the two brothers, is

A. 18!

B. 

C. 

D. 20!

Answer: C

Watch Video Solution

17! × 2!

18! × 2!

https://dl.doubtnut.com/l/_XbnC7dsYcF7D
https://dl.doubtnut.com/l/_iAwdJbMTPpfq


94. There are 5 gentlemen and 4 ladies to dine at a round table. In how

many ways can they as themselves so that no that ladies are together

?

A. 2880

B. 576

C. 1440

D. 480

Answer: A

Watch Video Solution

95. The number of ways can seven persons sit around a table so that

all shall not have the same neighbours in any two arrangements is

https://dl.doubtnut.com/l/_iAwdJbMTPpfq
https://dl.doubtnut.com/l/_k7nkJwYYvMej
https://dl.doubtnut.com/l/_dXK2ONWJJErl


A. 720

B. 360

C. 1440

D. none of these

Answer:

Watch Video Solution

96. Ramesh has 6 friends. In how many ways can be invite one or more

of them at a dinner ?

A. 64

B. 65

C. 63

D. 6!

https://dl.doubtnut.com/l/_dXK2ONWJJErl
https://dl.doubtnut.com/l/_C39p6Vmxotzb


Answer: C

Watch Video Solution

97. Find the total number of factors of  (excluding )

A. 40

B. 39

C. 41

D. 38

Answer: B

Watch Video Solution

2160 1

98. No of proper divisors of 7875...

A. 23

https://dl.doubtnut.com/l/_C39p6Vmxotzb
https://dl.doubtnut.com/l/_Xct5w4BICLbU
https://dl.doubtnut.com/l/_wVenOdcjs0ul


B. 24

C. 22

D. 21

Answer: C

Watch Video Solution

99. The number of factors (excluding 1 and the expression itself) of the

product of  def, where a, b, c, d, e, fare all prime numbers, is

A. 1279

B. 1278

C. 1280

D. 1277

Answer:

W t h Vid S l ti

a7b4c3

https://dl.doubtnut.com/l/_wVenOdcjs0ul
https://dl.doubtnut.com/l/_qGXah3rxgz8F


Watch Video Solution

100. The number of even divisors of 10800 is

A. 12

B. 24

C. 36

D. 48

Answer: D

Watch Video Solution

101. The number of divisors of the form  of the integer 240 is

A. 4

B. 8

C. 10

(4n + 2)

https://dl.doubtnut.com/l/_qGXah3rxgz8F
https://dl.doubtnut.com/l/_FjE1Bp8TnidY
https://dl.doubtnut.com/l/_tougAoBU3Ecf


D. 3

Answer: A

Watch Video Solution

102. The number of divisors of 10800 which are divisible by 15, is

A. 10

B. 20

C. 15

D. 30

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tougAoBU3Ecf
https://dl.doubtnut.com/l/_urmS7yqPQO3Z


103. lf  are prime numbers and  are the positive integers such

that their LCM of  is  then the numbers of ordered pair of 

 is (A)  (B)  (C)  (D) 

A. 252

B. 254

C. 225

D. 224

Answer:

Watch Video Solution

r, s, t p, q

p, q r2t4s2,

(p, q) 252 254 225 224

104. The number of ways in which a pack of 52 cards be divided equally

amongst four players in order, is

A. 
52!

(13!)4

https://dl.doubtnut.com/l/_kEhGJuT7QvlX
https://dl.doubtnut.com/l/_sFZIt9JojK3b


B. 

C. 

D. 

Answer: A

Watch Video Solution

52!

(13!)44!

52!

13!

52!

4! × 13!

105. The number of ways of dividing a pack of 52 cards into 4 equal

groups is

A. 

B. 

C. 

D. 

Answer: B

W h Vid S l i

52!

(13!)
4

52!

(13!)
4
4!

52!

(13!)4 × 4

52!

13! × 4

https://dl.doubtnut.com/l/_sFZIt9JojK3b
https://dl.doubtnut.com/l/_VRk7WIdhu8Zk


Watch Video Solution

106. (i)
 In how many
 ways can a pack of 52 cards be divided equally

among four players?
 (ii)
 (ii) In how
 many ways can you divide these

cards in four sets, three of them having 17
cards each and the four the

one just one card?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

52!

(17!)33!

52!

(17!)
3

52!

51!(17!)
3

52!

51!

107. The total number of ways in which 30 mangoes can be distributed

among 5 persons is

https://dl.doubtnut.com/l/_VRk7WIdhu8Zk
https://dl.doubtnut.com/l/_gzDPTXSs3eDB
https://dl.doubtnut.com/l/_epK4unx4bRDq


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

30C5

305

530

34C4

108. The number of ways of distributing 5 identical balls in into three

boxes so that no box is empty (each box being large enough to

accommodate all balls), is

A. 

B. 

C. 15

D. 6

35

53

https://dl.doubtnut.com/l/_epK4unx4bRDq
https://dl.doubtnut.com/l/_v8L1dnrYC3Q3


Answer: D

Watch Video Solution

109. In how many ways can 20 identical toys be distributed among 4

children so that each one gets at least 3 toys?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11C2

12C3

11C3

12C4

https://dl.doubtnut.com/l/_v8L1dnrYC3Q3
https://dl.doubtnut.com/l/_XwktGOQNuA1O


110. The total number of non-negative integral solutions of

, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x1 + x2 + x3 + x4 = 100

100C3

99C3

103C3

99C4

111. The number of integral solutions of equation 

when  is

A. 

B. 

x + y + z + t = 29,

x ≥ 1, y ≥ 2, z ≥ 2, 3 and t ≥ 0

26C4

26C3

https://dl.doubtnut.com/l/_0kykLs3acr9e
https://dl.doubtnut.com/l/_RnSGuMIEuBIZ


C. 

D. 

Answer:

Watch Video Solution

22C3

29C3

112. The number of ways in which 16 sovereigns can be distrbuted

among three applicants such that each applicant does not receive less

than 3 sovereigns, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

16C3

9C2

9C3

10C2

https://dl.doubtnut.com/l/_RnSGuMIEuBIZ
https://dl.doubtnut.com/l/_Ltg45am3hxzB


113. The number of points, having both co-ordinates as integers, that

lie in the interior of the triangle with vertices ,  and 

is

A. 820

B. 780

C. 901

D. 861

Answer:

Watch Video Solution

(0, 0) (0, 41) (41, 0)

114. Total number of integral solutions of the system of equations

x1 + x2 + x3 + x4 + x5 = 20 and x1 + x2 + x3 = 5  when xk ≥ l0, is

https://dl.doubtnut.com/l/_Ltg45am3hxzB
https://dl.doubtnut.com/l/_3HpRYHXnRjIv
https://dl.doubtnut.com/l/_GVC0tYu4lCue


A. 335

B. 336

C. 338

D. 340

Answer:

Watch Video Solution

115. In how many ways can four persons, each throwing a die once,

make a sum of 6?

A. 

B. 

C. 

D. 

9C2

10C3

8C3

9C3

https://dl.doubtnut.com/l/_GVC0tYu4lCue
https://dl.doubtnut.com/l/_YNi7JH3JQByn


Answer:

Watch Video Solution

116. In how many ways can four persons each throwing a dice, once,

make a sum of 13 ?

A. 220

B. 180

C. 140

D. 80

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YNi7JH3JQByn
https://dl.doubtnut.com/l/_IIGd6xQCT9sz


117. Between two junction stations A and B there are 12 intermediate

stations. The total numbre of ways in which a train can be made to

stop at 4 of these stations so that no two of these halting stations are

consecutive, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9C5

9C4

10C4

10C5

118. The number of ways in which 5 letters can be placed in 5 marked

envelopes, so that no letter is in the right encelope, is

A. 45

https://dl.doubtnut.com/l/_SUGXccCBmgrJ
https://dl.doubtnut.com/l/_ZjRavbTZrtYd


B. 44

C. 43

D. 46

Answer: B

Watch Video Solution

119. Ravish writes letters to his five friends and addresses the

correspondig envelopes. The total number of ways in which letters can

be placed in the envelopes so that at least two of them are in the

wrong envelopes, is

A. 120

B. 118

C. 119

D. 121

https://dl.doubtnut.com/l/_ZjRavbTZrtYd
https://dl.doubtnut.com/l/_s83d2raLx3JG


Section I Solved Mcqs

Answer:

Watch Video Solution

1. If  the valuen of  is given by

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

n = mC2
nC2

m+ 1C4

m− 1C4

m+ 2C4

https://dl.doubtnut.com/l/_s83d2raLx3JG
https://dl.doubtnut.com/l/_xPxhpLWEj3il


2. If ,then k belong to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(n − 1)Cr = (k2 − 3)nCr+ 1

( − ∞, − 2]

(2, ∞]

[ − √3, √3]

(√3, 2]

3. The sum  


is maximum, when m is

A. 5

B. 10

C. 15

m

∑
i= 0

10Ci × 20Cm− i(where pCq = 0  if p < q)

https://dl.doubtnut.com/l/_cSnapSyph27z
https://dl.doubtnut.com/l/_fzCtQFGgHbZI


D. 20

Answer:

Watch Video Solution

4. The exponent of 7 in 100!, is

A. 14

B. 15

C. 16

D. none of these

Answer:

Watch Video Solution

5. The number of zeros at the end of 100!, is

https://dl.doubtnut.com/l/_fzCtQFGgHbZI
https://dl.doubtnut.com/l/_FNZWrSGc80S7
https://dl.doubtnut.com/l/_exI17nkWPGa1


A. 24

B. 51

C. 10

D. 70

Answer: A

Watch Video Solution

6. The number  is divisible by

A. 

B. 

C. 

D. 

Answer: B

24!

624

246

1212

485

https://dl.doubtnut.com/l/_exI17nkWPGa1
https://dl.doubtnut.com/l/_QrOlgn5K718V


Watch Video Solution

7. If a and b are the greatest values of  respectively.

Then,

A. a=2b

B. b-2a

C. a=b

D. none of these

Answer:

Watch Video Solution

2nCr and 2n− 1Cr

8. The number of ways in which n distinct objects can be put into two

different boxes, is

A. n2

https://dl.doubtnut.com/l/_QrOlgn5K718V
https://dl.doubtnut.com/l/_CfWIml5auS0M
https://dl.doubtnut.com/l/_zbAeXLkMONmf


B. 

C. 2n

D. none of these

Answer: B

Watch Video Solution

2n

9. Find the total number of ways in which n distinct objects can be put

into two different boxes so that no box remains empty.

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

2n − 1

n2 − 1

2n − 2

n2 − 2

https://dl.doubtnut.com/l/_zbAeXLkMONmf
https://dl.doubtnut.com/l/_PGdXYEWZwT8A


Watch Video Solution

10. The number of ways in which n distinct objects can be put into two

identical boxes so that no box remains empty, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2n − 2

2n − 1

2n− 1 − 1

2n − 1

11. Find the number of ways in which 8 distinct toys can be distributed

among 5 children.

A. 58

https://dl.doubtnut.com/l/_PGdXYEWZwT8A
https://dl.doubtnut.com/l/_aaSRabWHuuuM
https://dl.doubtnut.com/l/_mzrtAqXIn2o9


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

85

35

12. The number of 6-digit numbers that can be formed using the three

digits 0,1 and 2, is

A. 

B. 

C. 

D. none of these

Answer: C

W t h Vid S l ti

36

2 × 35

35

https://dl.doubtnut.com/l/_mzrtAqXIn2o9
https://dl.doubtnut.com/l/_KZnJhbuzpTjS


Watch Video Solution

13. No. of different matrices that can be formed with elements

 each matrix having 4 elements is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

0, 1, 2 or 3

3 × 24

2 × 44

3 × 44

14. The number of possible outcomes in a throw of 
ordinary
dice in

which at least one of the die shows and odd number is
 a. 
 b. 


c.
 
d. none of these

n

6n − 1

3n − 1 6n − 3n

https://dl.doubtnut.com/l/_KZnJhbuzpTjS
https://dl.doubtnut.com/l/_1ilt21FUIV68
https://dl.doubtnut.com/l/_KmDmGYMeQEB7


A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

6n − 1

3n − 1

6n − 3n

15. Find the number of distinct rational numbers 
such that `o

A. 15

B. 13

C. 12

D. 11

Answer:

x

https://dl.doubtnut.com/l/_KmDmGYMeQEB7
https://dl.doubtnut.com/l/_n5sTAJOc3FkV


Watch Video Solution

16. The number of signals that can be generated by using 6 differently

coloured flags, when any number of them may be hoisted at a time is

A. 1956

B. 1957

C. 1958

D. 1959

Answer:

Watch Video Solution

17. Find the sum of all five digit numbers ,that can be formed using the

digits  (repetition of digits not allowed)

A. 366000

1, 2, 3, 4 and 5

https://dl.doubtnut.com/l/_n5sTAJOc3FkV
https://dl.doubtnut.com/l/_6Ta6Rpa2u68B
https://dl.doubtnut.com/l/_nrDkSn9XoaeC


B. 660000

C. 360000

D. 3999960

Answer:

Watch Video Solution

18. The number of 6 digit numbers that can be made with the digits

0,1,2,3,4 and 5 so that even digits occupy odd places is

A. 24

B. 36

C. 48

D. none of these

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_nrDkSn9XoaeC
https://dl.doubtnut.com/l/_YNgXl2VojaQZ


Watch Video Solution

19. Seven different lecturers are to deliver lectures in seven perday. A, B

and C are three oftne lectures. The number of ways in which a routine

for theday canr be made such that A delivers his lecture before B and B

before C, is

A. 420

B. 120

C. 210

D. none of these

Answer:

Watch Video Solution

20. The number of arrangements of the letters of the
word BANANA in

which the two Ns do not appear adjacently is

https://dl.doubtnut.com/l/_YNgXl2VojaQZ
https://dl.doubtnut.com/l/_nB75ViFkQFs9
https://dl.doubtnut.com/l/_5ICTfHidYMn8


A. 40

B. 60

C. 80

D. 100

Answer: A

Watch Video Solution

21. The total number of five-digit numbers of
 different digits in which

the digit in the middle is the largest is
 a. 
 b. 
 c. 


d.
none of these

A. 

B. 

C. 

D. none of these

9

∑
n= 4

^ nP4 33(3!)

30(3!)

30 × 30!

33 × 3!

9

∑
n= 4

nC4 × 4!

https://dl.doubtnut.com/l/_5ICTfHidYMn8
https://dl.doubtnut.com/l/_F9DjeC0J18Vt


Answer:

Watch Video Solution

22. how many different nine digit numbers can be formed from the

number  by rearranging its digits so that the odd digits

occupy even positions:

A. 16

B. 36

C. 60

D. 180

Answer:

Watch Video Solution

223355888

https://dl.doubtnut.com/l/_F9DjeC0J18Vt
https://dl.doubtnut.com/l/_E2CnmvEbUmgQ


23. By using the digits 0,1,2,3,4 and 5 (repetitions not allowed) numbers

are formed by using any number of digits. Find the total number of

non-zero
number that can be formed.

A. 1030

B. 1630

C. 1200

D. 1530

Answer:

Watch Video Solution

24. The total number not more than 20 digits that are
 formed by

usingd the digits 0, 1, 2, 3, and 4 is
a. 
b. 
c. 
d.
none of

these

A. 

520 520 − 1 520 + 1

520

https://dl.doubtnut.com/l/_fBlMCvBfGGyT
https://dl.doubtnut.com/l/_QpCZGuPkiQok


B. 

C. 

D. none of these

Answer:

Watch Video Solution

520 − 1

520 + 1

25. Six boys and six girls sit along a line alternately in x ways, and along

a circle (again alternatively) in y ways, then

A. x=y

B. y=12x

C. x=10y

D. x=12y

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_QpCZGuPkiQok
https://dl.doubtnut.com/l/_G2gjKrMTmp1o


Watch Video Solution

26. The number of times the digit 3 will be writtenn when listing the

integers from 1 to 1000, is

A. 269

B. 300

C. 271

D. 302

Answer:

Watch Video Solution

27. Let 
denote the
number of triangles, which can be formed using

the vertices of a regular
 polygon of 
 sides. It


equals
a. 
b. 
c. 
d.


Tn

n

Tn+ 1 − T − n = 21, the ∩ 5 7 6 4

https://dl.doubtnut.com/l/_G2gjKrMTmp1o
https://dl.doubtnut.com/l/_xbdRs1ds46kE
https://dl.doubtnut.com/l/_xMC7iAULCASe


A. 5

B. 7

C. 6

D. 4

Answer:

Watch Video Solution

28. Let A be the set of all positive prime intergers less than 30. The

number of different rational numbers whose numerator and

denominator belong to A is

A. 90

B. 180

C. 91

D. none of these

https://dl.doubtnut.com/l/_xMC7iAULCASe
https://dl.doubtnut.com/l/_QoYSKoGFFgKN


Answer:

Watch Video Solution

29. The number of ways in which a mixed double tennis game can be

arranged from amongst 9 married couple if no husband & wife plays in

the same game is:

A. 756

B. 1512

C. 3024

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QoYSKoGFFgKN
https://dl.doubtnut.com/l/_35bJeJcCt6Mc


30. The number of different seven digit numbers that can be written

using only three digits 1, 2 &3 under the condition that the digit 2

occurs exactly twice in each number.

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

7P5.25

7C2.25

7C2.52

31. The number of six digit numbers that can be formed from the digits

 so that digits do not repeat and terminal digits are

even is:

A. 144

1, 2, 3, 4, 5, 6&7

https://dl.doubtnut.com/l/_Qnqon6oWhEcQ
https://dl.doubtnut.com/l/_7m5s3EP35fSa


B. 72

C. 288

D. 720

Answer: D

Watch Video Solution

32. N a certain test, there are 
 question. In the test, 
 students

gave wrong answers to at least 
questions,
 where 
 if the

total number of wring answers given is 2047, then 
is equal to
a. 
b.


c. 
d. 

A. 10

B. 11

C. 12

D. 13

n 2n− i

i i = 1, , 2.., n.

n 10

11 12 13

https://dl.doubtnut.com/l/_7m5s3EP35fSa
https://dl.doubtnut.com/l/_efv8UoPbF1ga


Answer:

Watch Video Solution

33. The total number of 4 digit numbers in which the digit are in

descending order, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

10C4 × 4!

10C4

10!

4!

https://dl.doubtnut.com/l/_efv8UoPbF1ga
https://dl.doubtnut.com/l/_MlD3dVQ0Q9ue


34. The number of words of four letters containing
 equal number of

vowels and consonants, where repetition is allowed, is
 a. 
 b. 


c. 
d. 

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

1052

210 × 243 105 × 243 150 × 212

1052

210 × 243

105 × 243

35. The number of  digit numbers that can be made with the digits

 and  and having exactly two pairs of digits, is

A. 480

6

1, 2, 3 4

https://dl.doubtnut.com/l/_zqeFHvDlLWpi
https://dl.doubtnut.com/l/_gHnw0IPUiDva


B. 540

C. 1080

D. none of these

Answer:

Watch Video Solution

36. Total number of 6-digit numbers in which all the odd digits appear,

is

A. 

B. 6!

C. 

D. none of these

Answer:

W t h Vid S l ti

× 6!
5

2

× 6!
1

2

https://dl.doubtnut.com/l/_gHnw0IPUiDva
https://dl.doubtnut.com/l/_NqIkZpV2y6O0


Watch Video Solution

37. The number of numbers divisible by 3 that can be formed by four

different even digits, is

A. 18

B. 36

C. 24

D. 48

Answer:

Watch Video Solution

38. The number of five digit even numbers that can be made with the

digits, 0, 1, 2 and 3, is

A. 384

https://dl.doubtnut.com/l/_NqIkZpV2y6O0
https://dl.doubtnut.com/l/_WpWDPHJS3kQZ
https://dl.doubtnut.com/l/_ERgDiTPbTWWg


B. 192

C. 768

D. 576

Answer:

Watch Video Solution

39. Given that n is odd, number of ways in which three numbers in AP

can be selected from 1, 2, 3,……., n, is

A. 

B. 

C. 

D. 

Answer: D

h id l i

(n − 1)
2

2

(n + 1)2

4

(n + 1)
2

2

(n − 1)
2

4

https://dl.doubtnut.com/l/_ERgDiTPbTWWg
https://dl.doubtnut.com/l/_CSXlvBxp5olo


Watch Video Solution

40. The number of triangles whose vertices are a the vertices of an

octagon but none of whose sides happen to come from the sides of

the octagon is

A. 24

B. 52

C. 48

D. 16

Answer:

Watch Video Solution

41. There are 10 points in a plane of which no three
points are collinear

and four points are concyclic. The number of different
circles that can

https://dl.doubtnut.com/l/_CSXlvBxp5olo
https://dl.doubtnut.com/l/_o7qSycdlgexU
https://dl.doubtnut.com/l/_5fznNbkdo5qf


be drawn through at least three points of these points is a. 
b. 

c. 
d. none of these

A. 116

B. 117

C. 120

D. none of these

Answer:

Watch Video Solution

116 120

117

42. There are three coplanar parallel lines. If any 
points are
taken on

each of the lines, the maximum number of triangles with vertices on

these points is
a. 
b. 
c. 
d. none of

these

A. 

p

3p2(p − 1) + 1 3p2(p − 1) p2(4p − 3)

3n2(n − 1)

https://dl.doubtnut.com/l/_5fznNbkdo5qf
https://dl.doubtnut.com/l/_oaqcazwQ9NaV


B. 

C. 

D. none of these

Answer:

Watch Video Solution

3n2(n − 1) + 1

n2(4n − 3)

43. In a polygon, no three diagonals are
concurrent. If the total number

of
 points of intersection of diagonals interior to the polygon is 70,

then the
number of diagonals of the polygon is
a. 
b. 
c. 
d. none

of these

A. 8

B. 20

C. 28

D. none of these

20 28 8

https://dl.doubtnut.com/l/_oaqcazwQ9NaV
https://dl.doubtnut.com/l/_wqR9gkg0PFXj


Answer:

Watch Video Solution

44. ABCD is a convex quadrilateral and 3, 4, 5, and 6
points are marked

on the sides AB, BC, CD, and DA, respectively. The number
 of triangles

with vertices on different sides is a. 
b. 
c. 
d. 

A. 220

B. 270

C. 282

D. 342

Answer:

Watch Video Solution

270 220 282 342

https://dl.doubtnut.com/l/_wqR9gkg0PFXj
https://dl.doubtnut.com/l/_oTyL9Ep2CXv9


45. The number of ways in which we can select four
numbers from 1 to

30 so as to exclude every selection of four consecutive
 numbers is
 a.


b. 
c. 
d.
none of these

A. 27378

B. 27405

C. 27399

D. none of these

Answer:

Watch Video Solution

27378 27405 27399

46. The number of four-digit numbers that can be made
with the digits

1, 2, 3, 4, and 5 in which at least two digits are identical
is a. 
b. 


c. 
d. none of these

A. 

45 − 5!

505 600

45 − 5!

https://dl.doubtnut.com/l/_FniFY3zNb9YJ
https://dl.doubtnut.com/l/_rFWTSYHnYcpq


B. 505

C. 600

D. none of these

Answer:

Watch Video Solution

47. The number of 5-digit number that can be made using the digits 1

and 2 and in which at laest one digits is different, is

A. 30

B. 31

C. 32

D. none of these

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_rFWTSYHnYcpq
https://dl.doubtnut.com/l/_oBygFC35Xtyd


Watch Video Solution

48. The number of ways of dividing 20 persons into 10 couples is

A. 

B. 

C. 

D. (20!)/(2^(10)

Answer: A

Watch Video Solution

20!

21010!

20C10

20!

(21!)9

49. The number of ways in which 10 condidates  can

be ranked so that  is always above , is

A. 10!

B. 

A1, A2, ......, A10

A1 A2

10!

2

https://dl.doubtnut.com/l/_oBygFC35Xtyd
https://dl.doubtnut.com/l/_D0kAKXdospqS
https://dl.doubtnut.com/l/_pbqIg304Uhwx


C. 9!

D. none of these

Answer:

Watch Video Solution

50. There are n white and n black balls marked 1, 2, 3,…..,n. The number

of ways in which we can arrange these balls in a row so that

neighbouring balls are of different colours, is

A. n!

B. (2n)!

C. 

D. 

Answer:

Watch Video Solution

2(n !)2

(2n) !

(n !)2

https://dl.doubtnut.com/l/_pbqIg304Uhwx
https://dl.doubtnut.com/l/_ZGlX8kJbp8AV


51. The number of ways in which we can distribute 
 students

equally among 
sections is
given by
a. 
b. 
c. 

d. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

mn

m
(mn !)

n !

(mn) !

(n !)6m

(mn) !

m !n !

(mnm)

(mn) !

n !

(mn) !

(n !)m

(mn) !

m !n !

(2n) !

(n !)
2

52. The total number of 6-digit numbers in which the sum of the digits

is divisible by 5, is

https://dl.doubtnut.com/l/_ZGlX8kJbp8AV
https://dl.doubtnut.com/l/_BrFgyK1lCl6a
https://dl.doubtnut.com/l/_ojYZaHsAoyvU


A. 180000

B. 540000

C. 

D. none of these

Answer: A

Watch Video Solution

5 × 105

53. The number of integers solutions for the equation

, where x,y,z t are all , is

A. 

B. 

C. 

D. 

x + y + z + t = 20 ≥ − 1

20C4

23C3

27C4

27C3

https://dl.doubtnut.com/l/_ojYZaHsAoyvU
https://dl.doubtnut.com/l/_XQJ0zdhNa5zw


Answer: D

Watch Video Solution

54. The number of integral solutions of with ,

,  is

A. 135

B. 136

C. 455

D. 105

Answer: B

Watch Video Solution

x + y + z = 0 x ≥ − 5

y ≥ − 5 z ≥ − 5

https://dl.doubtnut.com/l/_XQJ0zdhNa5zw
https://dl.doubtnut.com/l/_vtMHfDXHrOf2


55. The number of non-negative integral solutions of 

where  is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

x + y + z ≤ n,

n ∈ N

n+ 3C3

n+ 4C4

n+ 5C5

56. If 
 objects are
 arrange in a row, then the number of ways of

selecting three of these objects
 so that no two of them are next to

each other is
 a. 
 b. 
 c.
 
 d. none of

these

A. 

n

^ n − 2C3 ^ n − 3C2 ^ n − 3C3

n− 2C3

https://dl.doubtnut.com/l/_Tl7tpGH8Ovwf
https://dl.doubtnut.com/l/_Svk45lwB5hFw


B. 

C. 

D. none of these

Answer:

Watch Video Solution

n− 3C2

n− 3C3

57. There are three piles of identical red, blue and green balls and each

pile contains at least 10 balls. The number of ways of selecting 10 balls

if twice as many red balls as green balls are to be selected, is

A. 3

B. 4

C. 6

D. 8

Answer:

https://dl.doubtnut.com/l/_Svk45lwB5hFw
https://dl.doubtnut.com/l/_BlXOrgGCKVPy


Watch Video Solution

58. If 
 objects are
 arrange in a row, then the number of ways of

selecting three of these objects
 so that no two of them are next to

each other is
 a. 
 b. 
 c.
 
 d. none of

these

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

n

^ n − 2C3 ^ n − 3C2 ^ n − 3C3

n− 3C3

n− 3C2

n− 2C3

https://dl.doubtnut.com/l/_BlXOrgGCKVPy
https://dl.doubtnut.com/l/_ZUnnmbPfnZ5A


59. Between two junction stations A and B there are 12 intermediate

stations. The number of ways in which a train can be made to stop at 4

of these stations so that no two of these halting stations are

consecutive, is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

8C4

9C4

12C4 − 4

60. In how many ways can 30 marks be allotted to 8 question
 if each

question carries at least 2 marks?

A. 21C7

https://dl.doubtnut.com/l/_6nfpjeAcOh27
https://dl.doubtnut.com/l/_nJZcDT8za0zl


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

21C8

21C9

61. The number of points in space, whose each co-ordinate is a

negative integer such that 

A. 385

B. 55

C. 110

D. none of these

Answer: B

W t h Vid S l ti

x + y + z + 12 = 0

https://dl.doubtnut.com/l/_nJZcDT8za0zl
https://dl.doubtnut.com/l/_SmoHB0aPgS8z


Watch Video Solution

62. If x, y, z are integers such that  and x + y + z = 15

, then the number of values of ordered triplets (x,y,z) are

A. 91

B. 455

C. 

D. none of these

Answer: A

Watch Video Solution

x ≥ 0, y ≥ 1, z ≥ 2

17C15

63. If a, b, c are three natural numbres in A.P. such that a+b+c =21, then

possible number of odered triplet (a, b, c), is

A. 15

https://dl.doubtnut.com/l/_SmoHB0aPgS8z
https://dl.doubtnut.com/l/_S3CIWBx1tSq4
https://dl.doubtnut.com/l/_Zw1kKaKZXZYa


B. 14

C. 13

D. none of these

Answer:

Watch Video Solution

64. If x, y, z, t are odd natural numbers such that 

then find the number of values of ordered quadruplet (x, y, z, t).

A. 165

B. 455

C. 310

D. none of these

Answer: A

W t h Vid S l ti

x + y + z + w = 20

https://dl.doubtnut.com/l/_Zw1kKaKZXZYa
https://dl.doubtnut.com/l/_xhAUzQBJo1z4


Watch Video Solution

65. The number of ways in which a score of 11 can be made from a

throw by three persons,each throwing a single die once, is

A. 45

B. 18

C. 27

D. none of these

Answer: C

Watch Video Solution

66. The sum of all the numbers of four different
 digits that can be

made by using the digits 0, 1, 2, and 3 is
 a. 
b. 
 c.
 
 d.

none of these

26664 39996 38664

https://dl.doubtnut.com/l/_xhAUzQBJo1z4
https://dl.doubtnut.com/l/_OMvHGDEL3YR6
https://dl.doubtnut.com/l/_SSQPGM9GeMir


A. 26664

B. 39996

C. 38664

D. none of these

Answer:

Watch Video Solution

67. There are 5 mangoes, 3 oranges and 4 bananas. The number of

ways of selecting at least one fruit of each kind, is

A. 

B. 5!

C. 5!-4!

D. 3!

5!

2!

https://dl.doubtnut.com/l/_SSQPGM9GeMir
https://dl.doubtnut.com/l/_Sts0nzaIWHU3


Answer: A

Watch Video Solution

68. There are 4 mangoes, 3 apples, 2 oranges and 1 each of 3 other

varieties of fruits. The number of ways of selecting at least one fruit of

each kind, is

A. 10!

B. 9!

C. 4!

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Sts0nzaIWHU3
https://dl.doubtnut.com/l/_iyc2m1oW3WcO


69. The number of divisor of 4200, is

A. 42

B. 48

C. 54

D. none of these

Answer: B

Watch Video Solution

70. The number of proper divisors of 2520, is

A. 46

B. 52

C. 64

D. none of these

https://dl.doubtnut.com/l/_UFRYSiOsj7ZS
https://dl.doubtnut.com/l/_KgwM4ZfHGkzs


Answer: A

Watch Video Solution

71. The number of porper divisors of  , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2m × 6n × 15p

(m + n + 1)(n + p + 1)(p + 1)

(m + n + 1)(n + p + 1)(p + 1) − 2

(m + n)(n + p) − 2

72. The number of porper divisors of 1800 which are also divisible by

10, is

https://dl.doubtnut.com/l/_KgwM4ZfHGkzs
https://dl.doubtnut.com/l/_ecGCmC12bZgh
https://dl.doubtnut.com/l/_GjJfZyTLinoK


A. 18

B. 34

C. 17

D. none of these

Answer: C

Watch Video Solution

73. The number of even proper divisors of 5040, is

A. 48

B. 47

C. 46

D. none of these

Answer: B

https://dl.doubtnut.com/l/_GjJfZyTLinoK
https://dl.doubtnut.com/l/_FkkjdCF8JBv1


Watch Video Solution

74. The number of odd proper divisors of 5040, is

A. 12

B. 10

C. 11

D. none of these

Answer:

Watch Video Solution

75. Find the number of odd proper divisors of 

A. 

B. 

3p × 6m × 21n.

(m + 1)(n + 1)(p + 1) − 1

(m + n + p + 1)(p + 1) − 1

https://dl.doubtnut.com/l/_FkkjdCF8JBv1
https://dl.doubtnut.com/l/_KLW1Q3dIT5Ol
https://dl.doubtnut.com/l/_E15Ds8zClp7B


C. 

D. none of these

Answer:

Watch Video Solution

(m + 1)(n + 1)(p + 1) − 2

76. The number of divisors of the form  of the integer 240 is

A. 4

B. 8

C. 10

D. 3

Answer: A

Watch Video Solution

(4n + 2)

https://dl.doubtnut.com/l/_E15Ds8zClp7B
https://dl.doubtnut.com/l/_epMbZoRpTouU
https://dl.doubtnut.com/l/_6gaSDlMpGDW6


77. The number of divisors of , having two prime factors, is

A. 3

B. 24

C. 26

D. 60

Answer:

Watch Video Solution

24.33.52

78. There are five balls of different colours and five boxes of colours

same as those of the balls. The number of ways in which the balls, one

each in a box, could be placed such that exactly one ball goes to a box

of its own colour, is

A. 9

B. 24

https://dl.doubtnut.com/l/_6gaSDlMpGDW6
https://dl.doubtnut.com/l/_nVRVWVJQklCe


C. 45

D. 120

Answer:

Watch Video Solution

79. The number of 5-digit numbers in which no two consecutive digits

are identical, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

92 × 83

9 × 84

95

https://dl.doubtnut.com/l/_nVRVWVJQklCe
https://dl.doubtnut.com/l/_F27SpJdcqq72


80. Let A be a set of n  distinct elements. The number of triplets 

 of the A elements in which at least two coordinates is equal

to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( ≥ 3)

(x, y, z)

nC3 × 3!

n3 − nC3 × 3!

3n2 − 2n

3n2(n − 1)

81. Find the number of ways to give 16 different things to three

persons A,
B, C so that B gets 1 more than A and C gets 2 more than B.

A. 
16!

4!5!7!

https://dl.doubtnut.com/l/_r2nr7lJOGx39
https://dl.doubtnut.com/l/_90D6M6tnxTTQ


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

4!5!7!

16!

3!5!8!

82. If  are distinct prime numbers. Then the

number of factors of  is :

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

P1, P2, .........Pm+ 1

P n
1 P2P3.... Pm+ 1

m(n + 1)

2nm

(n + 1)2m

n.2m

https://dl.doubtnut.com/l/_90D6M6tnxTTQ
https://dl.doubtnut.com/l/_LHLRPBX0rxBd


Watch Video Solution

83. There are m copies each of n different books in a university library.

The number of ways in which one or more than one book can be

selected is

A. 

B. 

C. 

D. m

Answer: B

Watch Video Solution

mn + 1

(m + 1)n − 1

(n + 1)n − m

84. The number of ways in which one or more balls can be selected out

of 10 white, 9 green and 7 blue balls, where balls of same color are

identical, is

https://dl.doubtnut.com/l/_LHLRPBX0rxBd
https://dl.doubtnut.com/l/_rEVrAB4quErn
https://dl.doubtnut.com/l/_RLivWXjbGKfd


A. 892

B. 881

C. 891

D. 879

Answer: D

Watch Video Solution

85. The number of all three element subsets of the set

 which contain  , is

A. 

B. 

C. 

D. none of these

{a1, a2, a3......an} a3

nC3

n− 1C3

n− 1C2

https://dl.doubtnut.com/l/_RLivWXjbGKfd
https://dl.doubtnut.com/l/_OSxevqhPigTO


Answer:

Watch Video Solution

86. If one quarter of all three element subsete of the set

 contains the element , then n=

A. 10

B. 12

C. 14

D. none of these

Answer:

Watch Video Solution

A = {a1, a2, a3, ......, an} a3

87. The sum of the divisors of , is25 × 34 × 52

https://dl.doubtnut.com/l/_OSxevqhPigTO
https://dl.doubtnut.com/l/_hKgTwJGjMqX9
https://dl.doubtnut.com/l/_qD8Na0hAX910


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

32.71.112

32.71.112.31

3.7.11.31

88. The number of words of that can be made by writing down the

letters of the word  such that each word starts and

ends with a consonant, is

A. 

B. 

C. 

D. none of these

CALCULATE

5 × 7!

2

3 × 7!

2

2 × 7!

https://dl.doubtnut.com/l/_qD8Na0hAX910
https://dl.doubtnut.com/l/_qyLM44YotR64


Answer: A

Watch Video Solution

89. Find the number of ways in which 
 different prizes can be

distributed among `m(

A. 

B. 

C. mn

D. none of these

Answer:

Watch Video Solution

n

nm − n)

mn

https://dl.doubtnut.com/l/_qyLM44YotR64
https://dl.doubtnut.com/l/_Dd95gdNx3RjC


90. The total number of positive integral solutions for  such

that  is

A. 36

B. 90

C. 120

D. none of these

Answer:

Watch Video Solution

(x, y, z)

xyz = 24

91. The total number of positive integral solutions of abc=30, is

A. 30

B. 27

C. 8

https://dl.doubtnut.com/l/_msZg7dtNJRK6
https://dl.doubtnut.com/l/_8o7STaHuAe9b


D. none of these

Answer: B

Watch Video Solution

92. The total numbre of intergral solutins of abc =24, is

A. 36

B. 90

C. 120

D. 30

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8o7STaHuAe9b
https://dl.doubtnut.com/l/_lRRYcj1XX7kS


93. A bag contains 3 black, 4 white and 2 red balls, all the balls being

different. The number of selections of at most 6 balls containing balls

of all the colours, is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

42 × 4!

26 × 4!

(26 − 1)4!

94. The number of different pairs of words (,) that can be made with

the letters of the word STATICS, is

A. 828

https://dl.doubtnut.com/l/_8has4mjZOASH
https://dl.doubtnut.com/l/_bswCqTuM1vpi


B. 1260

C. 396

D. none of these

Answer:

Watch Video Solution

95. In the decimal system of numeration the number of 6-digit

numbers in which the digit in any place is greater than the digit to the

left of it, is

A. 210

B. 84

C. 126

D. none of these

Answer:

https://dl.doubtnut.com/l/_bswCqTuM1vpi
https://dl.doubtnut.com/l/_S3zIp7BIgxHD


Watch Video Solution

96. There are 60 questions in a question paper. If no two students

solve the same combination of questions but solve equal number of

questions, then the maximum number of student who appeared in the

examination, is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

60C29

60C30

60C50

https://dl.doubtnut.com/l/_S3zIp7BIgxHD
https://dl.doubtnut.com/l/_2jiD7CdIJf5m


97. nine hundred distinct digit numbers are to be formed using only

the three digit  . the smallest value of  for which is possible

A. 6

B. 7

C. 8

D. 9

Answer:

Watch Video Solution

n

2, 5, 7 n

98. How many ways are there to arrange the letters in the word

 with the vowels in alphabetical order?

A. 

B. 

GARDEN

480

240

https://dl.doubtnut.com/l/_I7rveYtBXMLH
https://dl.doubtnut.com/l/_vSX2CxueeMhu


C. 

D. 

Answer: C

Watch Video Solution

360

120

99. The number of ways of distributing  identical balls in 3 distinct

boxes so that none of the boxes is empty is

A. 

B. 21

C. 

D. 5

Answer: B

Watch Video Solution

8

8C3

38

https://dl.doubtnut.com/l/_vSX2CxueeMhu
https://dl.doubtnut.com/l/_IWQgmEyFCvYi


100. The number of seven digit integers, with sum of the digits equal

to 10 and formed by using the digits 1, 2
and 3 only, is

A. 55

B. 66

C. 77

D. 88

Answer:

Watch Video Solution

101. Consider all possible permutations of the letters of the word

.
 The number of permutations containing the word

ENDEA is

A. 

ENDEANOEL

5!

https://dl.doubtnut.com/l/_sWYdMSVKXltc
https://dl.doubtnut.com/l/_ni7rIlZZ6zT1


B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 5!

7 × 5!

21 × 5!

102. Consider all possible permutations of the letters of the word

ENDEANOEL. The number of permutations in which the letter E occurs

in the first and last positions is

A. 5!

B. 

C. 

D. 

Answer:

2 × 5!

7 × 5!

21 × 5!

https://dl.doubtnut.com/l/_ni7rIlZZ6zT1
https://dl.doubtnut.com/l/_ydm1oBgP1GGL


Watch Video Solution

103. Consider all possible permutations of the letters of the word

ENDEANOEL. The number of permutations in which none of the letters

D, L and N occurs in the last positions is

A. 5!

B. 

C. 

D. 

Answer:

Watch Video Solution

2 × 5!

7 × 5!

21 × 5!

104. All possible permutations of the letters of the word ENDEANOEL if

A, E, O occur only in odd positions is

https://dl.doubtnut.com/l/_ydm1oBgP1GGL
https://dl.doubtnut.com/l/_HO3B5uhr7cwT
https://dl.doubtnut.com/l/_XZEV8Q1XnTsP


A. 5!

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 × 5!

7 × 5!

21 × 5!

105. If  then the sum  is

maximum when m =

A. 20

B. 19

C. 10

D. 10

mCr = 0  for r > m
m

∑
r= 0

18Cr
20Cm−r

https://dl.doubtnut.com/l/_XZEV8Q1XnTsP
https://dl.doubtnut.com/l/_sH3I79BfsTFK


Answer:

Watch Video Solution

106. Let 
 . The total number of unordered pairs of

disjoint
subsets of 
is equal
a. 
b. 
c. 
d.


A. 25

B. 34

C. 42

D. 41

Answer:

Watch Video Solution

S = {1, , 2, 34}

S 25 34 42 41

https://dl.doubtnut.com/l/_sH3I79BfsTFK
https://dl.doubtnut.com/l/_3IYBWjMJDhIN


107. There are two urns. Urn A has 3 distinct red balls and urn B has 9

distinct blue balls. From each urn two balls are taken out at random

and then
 transferred to the other. The number of ways in which this

can be done is
(1) 36 (2) 66 (3) 108 (4) 3

A. 66

B. 108

C. 3

D. 36

Answer:

Watch Video Solution

108. 2. There are 10 points in a plane, out of these 6 arecollinear. If N is

the number of triangles formed byjoining these points, then(a) N >

190(b) N <100(c) 100 < N <140(d) 140 < N <190

https://dl.doubtnut.com/l/_hW4Dul444IKo
https://dl.doubtnut.com/l/_ng39LcqnyYfQ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

100 < N ≤ 140

140 < N ≤ 190

N < 190

N ≤ 100

109. The total number of ways in which 5 balls of differert colours can

be distributed among 3 persons so thai each person gets at least one

ball is

A. 75

B. 150

C. 210

D. 243

https://dl.doubtnut.com/l/_ng39LcqnyYfQ
https://dl.doubtnut.com/l/_HhiwJD8Es5cP


Answer: B

Watch Video Solution

110. There are 10 girls and 8 boys in a class room including Ms. Rani

and Radha. A list of speakers consisting of 8 girls and 6 boys has to be

prepared. Mr. Ravi refuses to speak if Ms. Rani is a speaker. Ms. Rani

refuses to speak if Ms. Radha is a speaker . The number of ways the list

can be prepared is

A. 202

B. 308

C. 567

D. 952

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HhiwJD8Es5cP
https://dl.doubtnut.com/l/_jZlv215vRKiA


Section Ii Assertion Reason Type

111. The number of words which can be formed out of the letters , , ,

,   taken 3 together, each word containing one vowel at least is

A. 128

B. 24

C. 72

D. 96

Answer: D

Watch Video Solution

a b c

d e f

1. Statement-1: The number of zeros at the end of 100! Is, 24. 

Statement-2: The exponent of prine p in n!, is 

https://dl.doubtnut.com/l/_BMlgRqvFyST1
https://dl.doubtnut.com/l/_Tn3reRdFhhep


 


Where r is a natural number such that .

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

[ ] + [ ] + ....... + [ ]
n

p

n

p2

n

pr

P r ≤ n < P r+ 1

2. In
a shop there are five types of ice-creams available. A child buys six

ice-creams.
 Statement
 -1: The number of different ways the child can

buy the six ice-creams is 
 .
 Statement
 -2: The number of^ 10C5

https://dl.doubtnut.com/l/_Tn3reRdFhhep
https://dl.doubtnut.com/l/_BSOp6z7jWrjg


different ways the child can buy the six ice-creams is
 equal to the

number
 of different ways of arranging 6 As and 4 Bs in a row.
 (1)

Statement 1
is false, Statement 
is true
(6)
Statement 1
 is

true, Statement 
(10)
is true, Statement 

is a correct explanation for
 Statement 1
 (15)
 Statement 1
 is true,

Statement 
 (19)
 is true; Statement 

is not a correct explanation
 for Statement 1.
 (24)
 Statement 1
 is true,

Statement 
is false.

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

(2)(3) − 2(4)

(7)(8) − 2(9) (11)(12) − 2(13)

(16)(17) − 2(18) (20)(21) − 2(22)

(25)(26) − 2(27)

https://dl.doubtnut.com/l/_BSOp6z7jWrjg


3. Statement-1: The expression 

 attains its

maximum volue when r = 50 

Statement-2:  is maximum when r=n.

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

40Cr × 60C0 + 40Cr− 1 × 60C1 + 40Cr− 2 × 60C2 + ....

2nCr

https://dl.doubtnut.com/l/_BSOp6z7jWrjg
https://dl.doubtnut.com/l/_hMHmQhj8pDMe


4. Statement-1: The number of non-negative integral solutions of

. 


Statement-2: The number of ways of distributing n identical items

among r persons giving zero or more items to a person is 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

x + y + z = 40  is 43C3

n+r− 1Cr− 1

https://dl.doubtnut.com/l/_t3GThsPv5mG8


5. Statement-1: The number solutions of the equations x+y+z=15 in the

set N of all natural numbers is . 


Statement-2: The number of ways of distributing n identical items

among r persons is 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

4C2

n+r− 1Cr− 1

https://dl.doubtnut.com/l/_MQPgxOG9ghbg


6. Consider the natural number n=453600. 

Statement-1: The number of divisors of n is 180. 

Statement-2: The sum of the divisors of n is 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

(26 − 1)(35 − 1)(53 − 1)(72 − 1)

48

https://dl.doubtnut.com/l/_7TmYuTOhIdWg


7. Statement-1: The number  is not divisible by 11. 


Statement-2: The exponent of prime p in n! is 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

1000C500

[ ] + [ ] + [ ] + ...... + [ ]  where pk ≤ n < pk+ 1n

p

n

p2

n

p3

n

px

8. Statement-1: A student is allowed to select at most n books from a

collection of (2n+1) books. If the total number of ways in which he can

https://dl.doubtnut.com/l/_NEV0Zv0K0MML
https://dl.doubtnut.com/l/_HjjvA5B4mCBu


select at least one book is 255, then n=3. 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

n

∑
r= 1

2n+ 1Cr = 22n

9. Statement-1: The number of ways of distributing 10 identical balls in

4 distinct boxes such that no box is empty is . 
9C3

https://dl.doubtnut.com/l/_HjjvA5B4mCBu
https://dl.doubtnut.com/l/_YH4SMWBHUjik


Exercise

Statement-2: The number of ways of choosing any 3 places from 9

different places is .

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer:

Watch Video Solution

9C3

1. The value of  is
n

∑
r= 1

nPr

r !

https://dl.doubtnut.com/l/_YH4SMWBHUjik
https://dl.doubtnut.com/l/_NnXhuXPfJn1B


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2n

2n − 1

2n − 1

2n + 1

2. If  , then  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

12Pr = 11P6 + 6(11P5) r

6

5

7

https://dl.doubtnut.com/l/_NnXhuXPfJn1B
https://dl.doubtnut.com/l/_xVMR7JMeMe42


Watch Video Solution

3. If , then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

n− 1C3 + n− 1C4 > nC3

n ≤ 4

n > 5

n > 7

4.  is equal to

A. 

B. 

nCr + 2nCr− 1 + Cr− 2

n+ 1Cr

nCr+ 1

https://dl.doubtnut.com/l/_xVMR7JMeMe42
https://dl.doubtnut.com/l/_t4migryX9rzW
https://dl.doubtnut.com/l/_FaSpgJeD5EPY


C. 

D. none of these

Answer: D

Watch Video Solution

n− 1Cr+ 1

5. If 

A. 4

B. 6

C. 3

D. 8

Answer: A

Watch Video Solution

^ 2n + 1Pn− 1 :2n− 1 Pn = 3: 5, f ∈ dn.

https://dl.doubtnut.com/l/_FaSpgJeD5EPY
https://dl.doubtnut.com/l/_mQY29jsKdzIt
https://dl.doubtnut.com/l/_bgKmYHeDwsMk


6. If  then find the value of n.

A. 28

B. 3,6

C. 3

D. 6

Answer: B

Watch Video Solution

.35 Cn+ 7 = .35 C4n− 2

7. If , find n and r.

A. n=8,r=4

B. n=9,r=3

C. n=7,r=5

D. none of these

.n Cr− 1 = 36, .n Cr = 84 and .n Cr+ 1 = 126

https://dl.doubtnut.com/l/_bgKmYHeDwsMk
https://dl.doubtnut.com/l/_muTW4dDel82O


Answer: B

Watch Video Solution

8. If  then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(n − 1)C6 + (n − 1)C7 > nC6

n > 4

n > 12

n ≥ 13

n > 13

9. Which of the following is incorrect?

A. nCr = nCn−r

https://dl.doubtnut.com/l/_muTW4dDel82O
https://dl.doubtnut.com/l/_1YWIzSp7e2tA
https://dl.doubtnut.com/l/_lXARl8GZMBfK


B. 

C. 

D. 

Answer: B

Watch Video Solution

nCr = n− 1Cr + nCn−r

nCr = n− 1Cr + n− 1Cn−r

r !nCr = nPn

10. 
find 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

If 56Pr+ 6 :54 Pr+ 3 = 30800: 1, r

40

41

42

https://dl.doubtnut.com/l/_lXARl8GZMBfK
https://dl.doubtnut.com/l/_Tm7YHkbjeyjY


11.  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

m

∑
r= 0

.n+r Cn

n+m+ 1Cn+ 1

n+m+ 2Cn

n+m+ 3Cn− 1

12. Every two persons shakes hands with each other in a party and the

total number of handis 66. The number of guests in the party is

A. 11

B. 12

C. 13

https://dl.doubtnut.com/l/_HostSNoxT2DL
https://dl.doubtnut.com/l/_wVgNHRJat5to


D. 14

Answer: B

Watch Video Solution

13. On the occasion if Deepawali festival, each student in a class sends

greeting cards to other. If there are 20 students in the class, find the

total number of greeting cards exchanged by the students?

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

20C2

2. 20C2

2 × 20P2

https://dl.doubtnut.com/l/_wVgNHRJat5to
https://dl.doubtnut.com/l/_X7Nkpg9ibZ8k


14. If 
find 

A. 20

B. 19

C. 18

D. 17

Answer: B

Watch Video Solution

^ (n + 2)C8 :n− 2 P4 : 57: 16, n.

15. Find the exponent of 3 in 100!

A. 33

B. 44

C. 48

D. 52

https://dl.doubtnut.com/l/_iJOujSCQI07q
https://dl.doubtnut.com/l/_j6Cqn1vYwTlb


Answer: C

Watch Video Solution

16. Ten different letters of an alphabet are given. Words with five

letters
are formed from these given letters. Determine the number4 of

words which
have at least one letter repeated.

A. 69760

B. 30240

C. 99748

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_j6Cqn1vYwTlb
https://dl.doubtnut.com/l/_0P2DySx8xh4o


17. If 7 points out of 12 are in the same straight line, then the number

of triangles formed is

A. 19

B. 158

C. 185

D. 201

Answer: C

Watch Video Solution

18. A polygon has 44 diagonals. The number of its sides are

A. 9

B. 10

C. 11

https://dl.doubtnut.com/l/_7pXxSpHq6Pw1
https://dl.doubtnut.com/l/_P8kjG1D0dD5R


D. 12

Answer: C

Watch Video Solution

19. No. of diagonals of a polygon are 170. No. of sides in this polygon

are:

A. 12

B. 17

C. 20

D. 25

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_P8kjG1D0dD5R
https://dl.doubtnut.com/l/_ub0YbMnI7ui0


20. The number of all possible selections of one or more questions

from 10 given questions, each question having an alternative is :

A. 310

B. 

C. 

D. 

Answer: C

Watch Video Solution

210 − 1

310 − 1

210

21. The number of ways of painting the faces of a cube with six

different colours is

A. 1

B. 6

https://dl.doubtnut.com/l/_7APhvy2MpG5P
https://dl.doubtnut.com/l/_rYv95Vas9iTS


C. 6!

D. none of these

Answer: A

Watch Video Solution

22. A box contains 2 white balls, 3 black balls and 4 red balls. The

number of ways three balls be drawn from the box, if atleast one black

ball is to be included in the draw is …….. .

A. 129

B. 84

C. 64

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rYv95Vas9iTS
https://dl.doubtnut.com/l/_yMEWfX8sUbIe


23. Find the number of different permutations of the letters of the

word ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BANANA

720

60

120

360

24. A person tries to form as many different parties as he can, out of

his
 20 friends. Each party should consist of the same number. How

many friends
should be invited at a time? In how many of these parties

would the same
friends be found?

https://dl.doubtnut.com/l/_yMEWfX8sUbIe
https://dl.doubtnut.com/l/_b8OPsbXGO2gx
https://dl.doubtnut.com/l/_1XFXahWfCLse


A. 5

B. 10

C. 8

D. none of these

Answer: B

Watch Video Solution

25. Find the number of ways in which 8 different flowered can be

strung to
 form a garland so that four particular flowers are never

separated.

A. 

B. 

C. 288

D. none of these

4!.4!

8!

4!

https://dl.doubtnut.com/l/_1XFXahWfCLse
https://dl.doubtnut.com/l/_k3D1vJjuWGNr


Answer: A

Watch Video Solution

26. The number of words which can be formed out of the letters , , ,

,   taken 3 together, each word containing one vowel at least is

A. 72

B. 48

C. 96

D. none of these

Answer: C

Watch Video Solution

a b c

d e f

https://dl.doubtnut.com/l/_k3D1vJjuWGNr
https://dl.doubtnut.com/l/_y05CM4Zk3dp8


27. The smallest value of x satisfying the inequality 

is.

A. 7

B. 10

C. 9

D. 8

Answer: D

Watch Video Solution

10Cx− 1 > 2. 10Cx

28. The number of arrangenments which can be made using all the

letters of the word , if the vowels are adjacent, is

A. 

B. 

LAUGH

10

24

https://dl.doubtnut.com/l/_Zud0z1i3vMXL
https://dl.doubtnut.com/l/_4kPRReTgC3YW


C. 

D. 

Answer: C

Watch Video Solution

48

120

29. The number of ways of choosing a committee of 4 women and 5

men from 10 women and 9 men, if Mr. A refuses to serve on the

committee when Ms. B is a member of the committee, is

A. 20580

B. 21000

C. 21580

D. all the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4kPRReTgC3YW
https://dl.doubtnut.com/l/_OF6VApmI7jnG


30. A set contains 2n+1 elements. The number of subsets of this set

containing more than n elements :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2n− 1

2n

2n+ 1

22n

31. The number of ways in which any four letters cab be selected from

the word 'CORGOO' is

A. 15

https://dl.doubtnut.com/l/_OF6VApmI7jnG
https://dl.doubtnut.com/l/_AIPsyCCPIqLI
https://dl.doubtnut.com/l/_uFe0bBsq6B8d


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

11

7

32. A five digit number divisible by 3 is to be formed using the

numerals 0, 1, 2, 3, 4 and 5, without repetition. The total number of

ways this can be done, is

A. 216

B. 240

C. 600

D. 3125

Answer: A

https://dl.doubtnut.com/l/_uFe0bBsq6B8d
https://dl.doubtnut.com/l/_nhJaih74mXzc


Watch Video Solution

33. If 7 points out of 12 are in the same straight line, then the number

of triangles formed is

A. 19

B. 158

C. 185

D. 201

Answer: C

Watch Video Solution

34. If 
 denotes the number of permutations of 
 things taken

all at a time, 
 the number of permutations of 
 things taken 
 at a

a (x + 2)

b x 11

https://dl.doubtnut.com/l/_nhJaih74mXzc
https://dl.doubtnut.com/l/_j36eimT884F7
https://dl.doubtnut.com/l/_5LsnBM7STHX4


time and 
the number of permutations of 
things taken all at a

time such that 
find the value of 

A. 15

B. 12

C. 10

D. 18

Answer: B

Watch Video Solution

c x − 11

a = 182bc, x.

35. There are number of seats and m number of people have to be

seated, then how many ways are possible to do this ?

A. 

B. 

C. 

(m < n)

nPm

nCm

nCn × (m − 1) !

https://dl.doubtnut.com/l/_5LsnBM7STHX4
https://dl.doubtnut.com/l/_fJLlJFygrSaj


D. 

Answer: A

Watch Video Solution

n− 1Pm− 1

36. There are  letters and  directed envelopes. The number of ways in

which all the letters can be put in wrong envelope is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5 5

119

44

59

40

https://dl.doubtnut.com/l/_fJLlJFygrSaj
https://dl.doubtnut.com/l/_tP0K0yofj5Yg


37. The number of ways of selecting 10 balls from unlimited number of

red, black, white and green balls, is

A. 286

B. 84

C. 715

D. none of these

Answer: A

Watch Video Solution

38. The total number of different combinations of letters which can be

made from the letters of the word MISSISSIPPI, is

A. 150

B. 148

https://dl.doubtnut.com/l/_QndIGJuVtxf5
https://dl.doubtnut.com/l/_PVAtHJwk1vt5


C. 149

D. none of these

Answer: C

Watch Video Solution

39. The total number of six-digit natural numbers that
 can be made

with the digits 1, 2, 3, 4, if all digits are to appear in the same
number

at least once is
a. 
b. 
c. 
d. 

A. 1560

B. 840

C. 1080

D. 480

Answer: A

Watch Video Solution

1560 840 1080 480

https://dl.doubtnut.com/l/_PVAtHJwk1vt5
https://dl.doubtnut.com/l/_JAmiUCjyWvBs


40. The number of numbers of 7 digits whose sum of digits is even, is

A. 9000000

B. 4500000

C. 8100000

D. none of these

Answer: B

Watch Video Solution

41. All possible four-digit numbers have formed using the digits 0, 1, 2,

3 so that no number has repeated digits. The number of even numbers

among them, is

A. 9

https://dl.doubtnut.com/l/_JAmiUCjyWvBs
https://dl.doubtnut.com/l/_wL9WsfJbvLDO
https://dl.doubtnut.com/l/_N7P2qhhCJ3kr


B. 18

C. 10

D. none of these

Answer: C

Watch Video Solution

42. If the permutations of a, b, c, d, e taken all together be written

dowan in alphabetical order as in dictionary and numbered then the

rank of the permutation debac, is

A. 90

B. 91

C. 92

D. 93

Answer: D

https://dl.doubtnut.com/l/_N7P2qhhCJ3kr
https://dl.doubtnut.com/l/_YaoinHcMhpCs


Watch Video Solution

43. The number of natural numbers smaller than  of which all digits

are different, is

A. 5274

B. 5265

C. 4676

D. none of these

Answer: A

Watch Video Solution

104

44. If eight persons are to address a meeting, then the number of ways

in which a specified speaker is to speak before another specified

speaker, is

https://dl.doubtnut.com/l/_YaoinHcMhpCs
https://dl.doubtnut.com/l/_eAbcPVnvWx0Y
https://dl.doubtnut.com/l/_kFb1FXiu6rgU


A. 2520

B. 20160

C. 40320

D. none of these

Answer: B

Watch Video Solution

45. Find the number of proper factors of the number 38808.

A. 72

B. 70

C. 69

D. 71

Answer: B

https://dl.doubtnut.com/l/_kFb1FXiu6rgU
https://dl.doubtnut.com/l/_da8qwMvNtPfC


Watch Video Solution

46. All possible products are formed from the numbers

 by selecting any two without repetition. The number

of products out of the total obtained which are multiples of 5 is :

A. 5040

B. 7180

C. 8150

D. none of these

Answer: B

Watch Video Solution

1, 2, 3, 4, ..., 200

47. In an
 examination there are three multiple choice questions and

each question has 4
 choices. The number of ways in which a student

can fail to get all answers
correct is
(a) 11 (b) 27 (c) 12 (d) 63

https://dl.doubtnut.com/l/_da8qwMvNtPfC
https://dl.doubtnut.com/l/_BSamgbrmRVYf
https://dl.doubtnut.com/l/_PF2bXybuoWoA


A. 11

B. 15

C. 80

D. 63

Answer: D

Watch Video Solution

48. If all the words formed with the letters of the word 'RANDOM'

arranged in a dictionary then the word 'RANDOM' will be placed at

position no:

A. 614

B. 615

C. 613

D. 616

https://dl.doubtnut.com/l/_PF2bXybuoWoA
https://dl.doubtnut.com/l/_Vm60fybc4SWc


Answer: A

Watch Video Solution

49. Find the sum of all the numbers that can be formed with the digits

2,
3, 4, 5 taken all at a time.

A. 93324

B. 66666

C. 84844

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Vm60fybc4SWc
https://dl.doubtnut.com/l/_vTSyP7eQfkuK


50. The sum of the digits in the unit place of all numbers formed with

the help of 3,4,5,6 taken all at a time is

A. 18

B. 108

C. 432

D. none of these

Answer: B

Watch Video Solution

51. If the letters of the word MOTHER are written in all possible orders

and these words are written out as in a dictionary, find rank of the

word MOTHER.

A. 240

https://dl.doubtnut.com/l/_LpSaT4IxCryg
https://dl.doubtnut.com/l/_I1EOMicXENlN


B. 261

C. 308

D. 309

Answer: D

Watch Video Solution

52. Numbers greater than 1000 but not greater than
 4000 which can

be formed with the digits 0, 1, 2, 3, 4 (repetition of digits
is allowed) are

a. 
b. 
c. 
d. 

A. 375

B. 374

C. 376

D. none of these

Answer: A

350 375 450 576

https://dl.doubtnut.com/l/_I1EOMicXENlN
https://dl.doubtnut.com/l/_aBySo2x49uAH


Watch Video Solution

53. The number of ways in which 5 picturers can be hung from 7

picture nails on the wall is

A. 

B. 

C. 2520

D. none of these

Answer: C

Watch Video Solution

75

57

54. The number of all four digit numbers which are divisible by 4 that

can be formed from the digits 1, 2, 3, 4, and 5, is

https://dl.doubtnut.com/l/_aBySo2x49uAH
https://dl.doubtnut.com/l/_CE0klxUZxxnn
https://dl.doubtnut.com/l/_kZMV5POKxUu2


A. 125

B. 30

C. 95

D. none of these

Answer: A

Watch Video Solution

55. The number of all five digit numbers which are divisible by 4 that

can be formed from the digits 0,1,2,3,4 (without repetition) is

A. 36

B. 30

C. 34

D. none of these

https://dl.doubtnut.com/l/_kZMV5POKxUu2
https://dl.doubtnut.com/l/_rNibaREyi0ax


Answer: B

Watch Video Solution

56. The number of ways in which  different things

can be arranged in a row such that no two of the n things may be

together, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

m + n(n ≤ m + 1)

(m + n) !

m !n !

m !(m + 1) !

(m + n) !

m !(m + 1) !

(m − n + 1) !

https://dl.doubtnut.com/l/_rNibaREyi0ax
https://dl.doubtnut.com/l/_9QZfmPkWjdXe


57. All possible two-factor products are formed from the numbers 1,

2,…..,100. The numbers of factors out of the total obtained which are

multiple of 3, is

A. 2211

B. 4950

C. 2739

D. none of these

Answer: C

Watch Video Solution

58. 
 men and 
 women ae to be seated in a row so that no two

women sit together. If 
 then show that the number of ways n

which they fan be seated as 
.

m n

m > n

m !(m + 1) !

(m − n + 1) !

https://dl.doubtnut.com/l/_r6dPHytk078H
https://dl.doubtnut.com/l/_D11ipE4WiHRh


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

m !n !

(m + n) !

m !(m + 1) !

(m − n + 1) !

59. The total number of ways in which six '+' and four '-' signs can be

arranged in a line such that no two signs '-' occur together, is ……….. .

A. 35

B. 15

C. 30

D. none of these

https://dl.doubtnut.com/l/_D11ipE4WiHRh
https://dl.doubtnut.com/l/_BzUMRVPyCLbG


Answer: A

Watch Video Solution

60. If in a chess tournament each contestant plays once against each

of the other and in all 45 games are played, then the number of

participants, is

A. 9

B. 10

C. 15

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BzUMRVPyCLbG
https://dl.doubtnut.com/l/_OGcKqpOs64x1


61. Total number of four digit odd numbers that can be formed by

using  are

A. 216

B. 375

C. 400

D. 720

Answer: D

Watch Video Solution

0, 1, 2, 3, 5, 7

62. A committee of 5 is to be formed from 9 ladies and 8 men. If the

committee commands a lady majority, then the number of ways this

can be done is

A. 2352

https://dl.doubtnut.com/l/_mbjhWUQB5c2S
https://dl.doubtnut.com/l/_fNpwiquR5iUw


B. 1008

C. 3360

D. 3486

Answer: D

Watch Video Solution

63. .The number of ordered triplets of positive integers which are

solutions of the equation .

A. 6005

B. 4851

C. 5081

D. none of these

Answer: B

W t h Vid S l ti

x + y + z = 100

https://dl.doubtnut.com/l/_fNpwiquR5iUw
https://dl.doubtnut.com/l/_YEG99qXaj75X


Watch Video Solution

64. Find the number of straight lines that can be drawn through any

two points out of 10 points, of which 7 are collinear.

A. 26

B. 21

C. 25

D. none of these

Answer: C

Watch Video Solution

65. The number of ways in which 10 candidates 
 can be

ranked such that 
 is always
 above 
 is
 a. 
 b. 
 c. 
 d. 

A1, A2, A10

A1 A10 5! 2(5!) 10!

(10!)
1

2

https://dl.doubtnut.com/l/_YEG99qXaj75X
https://dl.doubtnut.com/l/_elfm6Pgn7Q1Z
https://dl.doubtnut.com/l/_eCybFEroq01o


A. 5!

B. 2(5!)

C. 10!

D. none of these

Answer: D

Watch Video Solution

66. In Q. 65, the number of ways in which  are next to each

other, is

A. 9!

B. 2(9!)

C. 

D. none of these

A1 and A2

(9!)
1

2

https://dl.doubtnut.com/l/_eCybFEroq01o
https://dl.doubtnut.com/l/_mMMr1d7Gq1pr


Answer: B

View Text Solution

67. The total number of all proper factors of 75600, is

A. 120

B. 119

C. 118

D. none of these

Answer: C

Watch Video Solution

68. The total number of ways in which 11 identical apples can be

distributed among 6 children such that every student gets atleast one

https://dl.doubtnut.com/l/_mMMr1d7Gq1pr
https://dl.doubtnut.com/l/_Gfv74fcgGOiU
https://dl.doubtnut.com/l/_4hGHt2Hfim0B


apple,is

A. 252

B. 462

C. 42

D. none of these

Answer: A

Watch Video Solution

69. The number of ways in which a pack of 52 cards be divided equally

amongst four players in order, is

A. 

B. 

C. 

D. 

52C13

52C4

52!

(13!)4

52!

(13!)
4
4!

https://dl.doubtnut.com/l/_4hGHt2Hfim0B
https://dl.doubtnut.com/l/_uiKRPKGDNpne


Answer: C

Watch Video Solution

70. (i)
 In how many
 ways can a pack of 52 cards be divided equally

among four players?
 (ii)
 (ii) In how
 many ways can you divide these

cards in four sets, three of them having 17
cards each and the four the

one just one card?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

52!

(17!)3

52!

(17!)33!

51!

(17!)3

51!

(17!)
3
3!

https://dl.doubtnut.com/l/_uiKRPKGDNpne
https://dl.doubtnut.com/l/_sMiXmp64qQm7
https://dl.doubtnut.com/l/_anRk6tmKWbWt


71. The total number of ways of dividing  different things into

groups of  and  respectively, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

15

8. , 4 3

15!

8!4!(3!)
2

15!

8!4!3!

15!

8!4!

72. There are three copies each of 4 different books. In how many ways

can
they be arranged in a shelf?

A. 

B. 

C. 

12!

(3!)4

12!

(4!)3

12!

(3!)
4
4!

https://dl.doubtnut.com/l/_anRk6tmKWbWt
https://dl.doubtnut.com/l/_70nA7Ffp7RSO


D. 

Answer: A

Watch Video Solution

12!

(4!)33!

73. The number of ways in which 12 books can be put in
three shelves

with four on each shelf is
a. 
b. 
c. 
d. none of

these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

12!

(4!)3

12!

(3!)(4!)3

12!

(3!)34!

12!

(4!)3

12!

(3!)(4!)3

12!

(3!)
3
4!

https://dl.doubtnut.com/l/_70nA7Ffp7RSO
https://dl.doubtnut.com/l/_0yYzXscwKWhC


74. The total number of ways in which 12 persons can be divided into

three groups of 4 persons each, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12!

(13!)34!

12!

(4!)3

12!

(4!)33!

12!

(3!)
4

75. The number of ways in which 12 balls can be divided between two

friends, one receiving 8 and the other 4, is

A. 

B. 

12!

8!4!

12!12!

8!4!

https://dl.doubtnut.com/l/_bvADiXXZSeG2
https://dl.doubtnut.com/l/_VYhCN83YJKO2


C. 

D. none of these

Answer: B

Watch Video Solution

12!

8!4!2!

76. The total number of ways in which 
persons can
be divided into 

couples is a. 
b. 
c. 
d. none of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2n n

2n !

n !n !

2n !

(2!)3

2n !

n !(2!)n

2n !

n !n !

2n !

(2!)n

2n !

n !(2!)n

https://dl.doubtnut.com/l/_VYhCN83YJKO2
https://dl.doubtnut.com/l/_fJtvw243jeXk


77. The total number of ways of selecting six coins
out of 20 one-rupee

coins, 10 fifty-paisa coins, and 7 twenty-five paisa
coins is
 a. 
b. 
 c.


d. none of these

A. 28

B. 56

C. 

D. none of these

Answer: A

Watch Video Solution

28 56

^ 37C6

37C6

78. The number of ways in which thirty five apples can be distributed

among 3 boys so that each can have any number of apples, is :

A. 1332

https://dl.doubtnut.com/l/_6BEpo7QgcA6D
https://dl.doubtnut.com/l/_vCPBTgM8VpGa


B. 666

C. 333

D. none of these

Answer: B

Watch Video Solution

79. A person goes in for an examination in which there are four papers

with a maximum of m marks from each paper. The number of ways in

which one can get 2m marks is

A. 

B. 

C. 

D. none of these

Answer: C

2m+ 3C3

(m + 1)(2m2 + 4m + 1)
1

3

(m + 1)(2m2 + 4m + 3)
1

3

https://dl.doubtnut.com/l/_vCPBTgM8VpGa
https://dl.doubtnut.com/l/_JEMgJiYTch3M


Watch Video Solution

80. If 
parallel
lines in a plane are intersected by a family of 
parallel

lines, the number of parallelograms that can be formed is
 a.


 b. 
 c. 
 d. none of

these

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

m n

mn(m − 1)(n − 1)
1

4
mn(m − 1)(n − 1)

1

4
m2n21

4

(m − 1)(n − 1)

4

mn

4

m(m − 1)n(n − 1)

2

mn(m − 1)(n − 1)

4

https://dl.doubtnut.com/l/_JEMgJiYTch3M
https://dl.doubtnut.com/l/_TdHOTzuq3kpM


81. 1, 2, 3, 4 are four numbers. How many numbers can be made using

all four numbers without repetition?

A. 1!

B. 3!

C. 2!

D. 4!

Answer: D

Watch Video Solution

82. There were two women participating in a chess
tournament. Every

participant played two games with the other participants.
 The number

of games that the men played among themselves proved to exceed by

66 number of games that the men played with eth
women. The number

of participants is

https://dl.doubtnut.com/l/_fq0j7JP296ZH
https://dl.doubtnut.com/l/_N319ZpMbGDKK


A. 6

B. 11

C. 13

D. none of these

Answer: C

Watch Video Solution

83. The parallelogram is cut by two sets of m lines parallel to its sides.

The numbers parallelogram thus formed, is

A. 

B. 

C. 

D. none of these

(mC2)2

(m+ 1C2)
2

(m+ 2C2)
2

https://dl.doubtnut.com/l/_N319ZpMbGDKK
https://dl.doubtnut.com/l/_mrAlYzVDTSHc


Answer: C

Watch Video Solution

84. There are 
 straight lines in a plane in which no two are parallel

and
no three pass through the same point. Their points of intersection

are
 joined. Show that the number of fresh lines thus introduced is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

n

n(n − 1)(n − 2)(n − 3)
1

8

n(n − 1)(n − 1)

8

n(n − 1)(n − 2)(n − 3)

6

n(n − 1)(n − 2)(n − 3)

8

https://dl.doubtnut.com/l/_mrAlYzVDTSHc
https://dl.doubtnut.com/l/_Sq73heVHiMCk
https://dl.doubtnut.com/l/_zYKLdc2r5MlW


85. There are 18 points in a plane such that no three of them are in the

same line except five points which are collinear. The number of

triangles formed by these points, is

A. 805

B. 806

C. 816

D. none of these

Answer: B

Watch Video Solution

86. Given 5 different green dyes, four different blue dyes and three

different red dyes, how many combinations of dyes can be chosen

taking at least one green and one blue dye ?

A. 3255

https://dl.doubtnut.com/l/_zYKLdc2r5MlW
https://dl.doubtnut.com/l/_Uwf54aQH1HJV


B. 212

C. 3720

D. none of these

Answer: C

Watch Video Solution

87. Eight chairs are numbered 1 to 8. Two women and
three men wish

to occupy one chair each. First, the women choose the chairs
 from

amongst the chairs marked 1 to 4, and then the men select th chairs

from
amongst the remaining. The number of possible arrangements is

a. 
b. 
c. 
d. none of these

A. 

B. 

C. 

^ 6C3 ×4 C2 ^ 4P2 ×4 P3 ^ 4C2 ×4 P3

4C3 × 4C2

4C2 × 4P3

4P2 × 4P3

https://dl.doubtnut.com/l/_Uwf54aQH1HJV
https://dl.doubtnut.com/l/_jaIgMwl598cC


D. none of these

Answer: D

Watch Video Solution

88. A student is allowed to select at most n books from a collection of

(2n+1) books. If the total number of ways in which a student selects at

least one book is 63. then n equals to -

A. 6

B. 3

C. 4

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jaIgMwl598cC
https://dl.doubtnut.com/l/_KzPy86odoTD5


89. In a steamer there are stalls for 12 animals and there are cows,

horses and calves (not less than 12 of each) ready to be shipped, the

total number of ways in which the shipload can be made, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

312

123

12P3

12C3

90. The number of different numbers that can be formed by using all

the digits 1, 2, 3, 4,3, 2,1 so that odd digits always occupy the odd places

IS 1) 6 2)72 3) 60 4) 18

A. 3!4!

https://dl.doubtnut.com/l/_XCWd4jMRVcrE
https://dl.doubtnut.com/l/_c5W2GMClIJwV


B. 34

C. 18

D. 12

Answer: C

Watch Video Solution

91. Number of ways in which RS. 18 can be distributed amongst four

persons such that no body receives less than RS 4, is

A. 42

B. 24

C. 4!

D. none of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_c5W2GMClIJwV
https://dl.doubtnut.com/l/_g6XD8darVIx0


92. A box contains 2 white balls, 3 black balls and 4 red balls. The

number of ways three balls be drawn from the box, if atleast one black

ball is to be included in the draw is …….. .

A. 74

B. 64

C. 84

D. 20

Answer: B

Watch Video Solution

93. The number of ways in which four letters can be selected from the

word degree, is

https://dl.doubtnut.com/l/_g6XD8darVIx0
https://dl.doubtnut.com/l/_20JfF3zAHrQy
https://dl.doubtnut.com/l/_wPZkVsyo6ADi


A. 7

B. 6

C. 

D. none of these

Answer: A

Watch Video Solution

6!

3!

94. find the number of arrangements which can be made out of the

letters of the word 'algebra', without altering the relative positions of

vowels and consonants.

A. 

B. 

C. 4!3!

D. 

7!

2!

7!

2!5!

4!3!

2

https://dl.doubtnut.com/l/_wPZkVsyo6ADi
https://dl.doubtnut.com/l/_25pT4dvs7gJH


Answer: D

Watch Video Solution

95. The number of ways in which seven persons can be arranged at a

round table if two particular persons may not sit together, is

A. 480

B. 120

C. 80

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_25pT4dvs7gJH
https://dl.doubtnut.com/l/_iS3Csuabl0RC


96. The total number of ways in which 4 boys and 4 girls can form a

line, with boys and girls alternating, is

A. (4!)2

B. 8!

C. 2(4!)^2

D. 

Answer: C

Watch Video Solution

4!. 5P4

97. How
many different words can be formed by jumbling the letters in

the word
 MISSISSIPPI in which no two S are adjacent?
 (1)


(2) 
(3) 
(4) 

A. 

8
.

ˆ 6C4

.

ˆ 7C4 6.7
.

ˆ 8C4 6.8
.

ˆ 7C4 7
.

ˆ 6C4

.

ˆ 8C4

8 × 6C4 × 7C4

https://dl.doubtnut.com/l/_bfKd4ehBQocR
https://dl.doubtnut.com/l/_RitknWEoyeAF


B. 

C. 

D. 

Answer: D

Watch Video Solution

6 × 7 × 8C4

6 × 8 × 7C4

7 × 6C4 × 8C4

98. A code word consists of three letters of the English alphabet

followed by two digits of the decimal system. If neither letter nor digit

is repeated in any code word, then the total number of code words, is

A. 1404000

B. 16848000

C. 2808000

D. none of these

Answer: A

https://dl.doubtnut.com/l/_RitknWEoyeAF
https://dl.doubtnut.com/l/_aDdLTUauw75r


Watch Video Solution

99. Find the number of words formed by permuting all the letters of

the
following word: EXERCISES

A. 60480

B. 30240

C. 10080

D. none of these

Answer: B

Watch Video Solution

100. A father with 8 children takes 3 at a time to the Zoological

Gardens, as often as he can without taking the same 3 children

https://dl.doubtnut.com/l/_aDdLTUauw75r
https://dl.doubtnut.com/l/_4hIm3spZ7qKx
https://dl.doubtnut.com/l/_jZQ3SmNfulkK


together more than once. The number of times he will go to the

garden, is

A. 336

B. 112

C. 56

D. none of these

Answer: C

Watch Video Solution

101. A man has 8children to take them to a zoo. He takes thre of them

at a time to the zoo as often as he can without taking the same 3

children together more than once. How many times will he have to go

to the zoo? How many times a particular child will to to the zoo?

A. 56

https://dl.doubtnut.com/l/_jZQ3SmNfulkK
https://dl.doubtnut.com/l/_BkyZ4RRsJxRs


B. 21

C. 112

D. none of these

Answer: B

Watch Video Solution

102. If the letters of the word LATE be permuted
 and the words so

performed be arranged as in a dictionary, find rank of the
word LATE.

A. 12

B. 13

C. 14

D. 15

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_BkyZ4RRsJxRs
https://dl.doubtnut.com/l/_HpD3NHPxCaVR


Watch Video Solution

103. The total number of ways of arranging the letters AAAA BBB CC D

E F in a row such that letters C are separated from one another, is

A. 2772000

B. 1386000

C. 4158000

D. none of these

Answer: B

Watch Video Solution

104. The sides AB, BC, CA of a triangle ABC have 3, 4 and 5 points.

Triangles that can be constructed by using these points as vertices, is

A. 220

https://dl.doubtnut.com/l/_HpD3NHPxCaVR
https://dl.doubtnut.com/l/_znM81drKZ8qT
https://dl.doubtnut.com/l/_kIfRv6ea7zM7


B. 204

C. 205

D. 195

Answer: C

Watch Video Solution

105. There are four balls of different colours and four boxes of colours,

same as those of the balls. The number of ways in which the balls, one

in each box, could be placed such thast a ball does not go to a box of

its own colour is: (A)  (B) 9 (C)  (D) none of these

A. 9

B. 24

C. 12

D. none of these

⌊4 − 1 ⌊3 + 1

https://dl.doubtnut.com/l/_kIfRv6ea7zM7
https://dl.doubtnut.com/l/_79kx8p9OFxO5


Answer: A

Watch Video Solution

106. The number of all the possible selections which a student can

make for answering one or more questions out of eight given

questions in a paper, when each question has an altrenative, is

A. 256

B. 6560

C. 6561

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_79kx8p9OFxO5
https://dl.doubtnut.com/l/_mpUWTa2uf8AB


107. The greatest possible number of points of intersection of 8

straight lines and 4 circles is:

A. 32

B. 64

C. 76

D. 104

Answer: D

Watch Video Solution

108. A lady gives a dinner party to 5 guests to be selected from nine

friends. The number of ways of forming the party of 5, given that two

of the friends will not attend the party together, is

A. 56

https://dl.doubtnut.com/l/_M0AKNn4MnnMw
https://dl.doubtnut.com/l/_wqmGiqdQrGwi


B. 126

C. 91

D. none of these

Answer: C

Watch Video Solution

109. There are 10 lamps in a hall.Each one of them can be switched on

independently.Find the number of ways in which the hall can be

illuminated.

A. 102

B. 1023

C. 210

D. 10!

Answer: B

https://dl.doubtnut.com/l/_wqmGiqdQrGwi
https://dl.doubtnut.com/l/_50JLLCks8OPL


Watch Video Solution

110. The number of ways in which four persons be seated at a round

table, so that all shall not have the same neighbours in any two

arrangements,is

A. 24

B. 6

C. 3

D. 4

Answer: C

Watch Video Solution

111. At an election there are five candidates and three members to be

elected, and an elector may vote for any number of candidates not

https://dl.doubtnut.com/l/_50JLLCks8OPL
https://dl.doubtnut.com/l/_FlX42sRRkR8H
https://dl.doubtnut.com/l/_TrhKIkiISWqT


greatre than the number to be elected. Then the number of ways in

which an elector may vote, is

A. 25

B. 30

C. 32

D. none of these

Answer: A

Watch Video Solution

112. There are 
 copies each of 
 different books. Find the number of

ways in which a nonempty selection can be
made from them.

A. np

B. pn

C. 

p n

(p + 1)n − 1

https://dl.doubtnut.com/l/_TrhKIkiISWqT
https://dl.doubtnut.com/l/_Z77ZPqDiRlGS


D. 

Answer: C

Watch Video Solution

(n + 1)p − 1

113. A library has two books each having three copies and three other

books each having tow copies. In how many ways can all these books

be arranged in a shelf so that copies of the same book are not

separated.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(a + b + c + d) !

a !b !c !

(a + 2b + 3c + d) !

a !(b !)2(c !)3

(a + 2b + 3c + d) !

a !b !c !

https://dl.doubtnut.com/l/_Z77ZPqDiRlGS
https://dl.doubtnut.com/l/_nybQkYFkuzeB


114. The total number of arrangements of the letters in the expression

 when written at full length, is

A. 1260

B. 2520

C. 610

D. none of these

Answer: A

Watch Video Solution

a3b2c4

115. The total number of selections of fruit which can be made from 3

bananas, 4 apples and 2 oranges, is

A. 39

https://dl.doubtnut.com/l/_nybQkYFkuzeB
https://dl.doubtnut.com/l/_5RXc68zsOJlc
https://dl.doubtnut.com/l/_7RGiqtSkZsu7


B. 315

C. 512

D. none of these

Answer: D

Watch Video Solution

116. The total number of ways of dividing mn things into n equal

groups, is

A. 

B. 

C. 

D. none of these

Answer: C

W t h Vid S l ti

(mn) !

m !n !

(mn) !

(m !)mn !

(mn) !

(m !)nn !

https://dl.doubtnut.com/l/_7RGiqtSkZsu7
https://dl.doubtnut.com/l/_D2jcNgW5zbve


Watch Video Solution

117. How many different words of 4 letters can be formed with the

letters of the word EXAMINATION?

A. 2454

B. 2436

C. 2545

D. none of these

Answer: A

Watch Video Solution

118. 

A. 

B. 

35C8 +
1

∑
r= 1

42 −rC7 +
5

∑
s= 1

47 −sC40 −s, is

46C7

46C8

https://dl.doubtnut.com/l/_D2jcNgW5zbve
https://dl.doubtnut.com/l/_eHf3SIzxuOo3
https://dl.doubtnut.com/l/_oQ4yTWXmafst


C. 

D. 

Answer: D

View Text Solution

47C7

47C8

119. 

A. n+1

B. n+2

C. n+3

D. n+4

Answer: C

Watch Video Solution

nCn−r + 3. nCn−r+ 1 + 3. nCn−r+ 2 + nCn−r+ 3 = xCr

https://dl.doubtnut.com/l/_oQ4yTWXmafst
https://dl.doubtnut.com/l/_RGnE9Dc4WJ6A
https://dl.doubtnut.com/l/_acFctUaj7WuE


120. If n is even and 

,

then, r=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

nC0 < nC1 < nC2 < .... < nCr > nCr+ 1 > nCr+ 2 > ...... > nCn

n

2

n − 1

2

n − 2

2

n + 2

2

121. Find the number of ways in which one can post 5 letters in 7letter

boxes.

A. 35

B. 7P5

https://dl.doubtnut.com/l/_acFctUaj7WuE
https://dl.doubtnut.com/l/_83gI1OE9Rj2w


C. 

D. 

Answer: C

Watch Video Solution

75

57

122. What is the total
number of 
matrices with each
entry 0 or 1?

A. 8

B. 16

C. 4

D. none of these

Answer: B

Watch Video Solution

2 × 2

https://dl.doubtnut.com/l/_83gI1OE9Rj2w
https://dl.doubtnut.com/l/_3j0ZWeRlxsH6
https://dl.doubtnut.com/l/_KGYQ4UdbQ363


123. Three dice are rolled. Find the number of possible outcomes in

which at
least one dice shows 5.

A. 215

B. 36

C. 125

D. 91

Answer: D

Watch Video Solution

124. The numbers of four different digits number that can be formed

from the digits of the number 12356 such that the numbers are

divisible by 4, is

A. 36

B. 48

https://dl.doubtnut.com/l/_KGYQ4UdbQ363
https://dl.doubtnut.com/l/_3GlzXRfeYXjJ


C. 12

D. 24

Answer: A

Watch Video Solution

125. If m and n are positive integers more than or equal to 2, ,

then (mn)! is divisible by

A.  but not by (m-n)!

B.  but 

C. 

D.  but not by (m+n)!and(m-n)!

Answer: C

Watch Video Solution

m > n

(m !)n, (n !)m and (m + n) !

(m + n) !, (m − n) !, (m !)n (n !)m

(m !)n, (n !)m, (m + n) ! and (m − n) !

(m !)n and (n !)m

https://dl.doubtnut.com/l/_3GlzXRfeYXjJ
https://dl.doubtnut.com/l/_9QhoBe4HDSuV


126. Find the number of integers which lie between 1 and 
 and

which have the sum of the digits equal to 12.

A. 8550

B. 5382

C. 6062

D. 8055

Answer: C

Watch Video Solution

106

127. A man invites a party to (m+n) friends to dinner and places m at

one round table and n at another. The number of ways of arranging

the guests is

A. 
(m + n) !

m !n !

https://dl.doubtnut.com/l/_Wqn35nRNYiaX
https://dl.doubtnut.com/l/_kjN42NHkIGpt


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(m + n) !

(m − 1) !(n − 1) !

(m − 1) !(n − 1) !

128. The number of ways of arranging 
positive
and `n(

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

m

m+ 1 + Pn

n+ 1 + Pm

m+ 1 + Cn

n+ 1 + Cm

https://dl.doubtnut.com/l/_kjN42NHkIGpt
https://dl.doubtnut.com/l/_s6XqkLygBGhk


129. Out of 10 consonants four vowels, the number of words that can

be formed using six consonants and three vowels, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10P6 × 6P3

10C6 × 6C3

10C6 × 4C3 × 9!

10P6 × 4P3

130. Four couples (husband and wife) decide to form a committee of

four members. The number of different committees that can be

formed in which no couple finds a place is

A. 10

https://dl.doubtnut.com/l/_L88Yf41I61O6
https://dl.doubtnut.com/l/_DOwhFD4EjpLo


B. 12

C. 14

D. 16

Answer: D

Watch Video Solution

131. N a certain test, there are 
 question. In the test, 
 students

gave wrong answers to at least 
questions,
 where 
 if the

total number of wring answers given is 2047, then 
is equal to
a. 
b.


c. 
d. 

A. 12

B. 11

C. 10

D. none of these

n 2n− i

i i = 1, , 2.., n.

n 10

11 12 13

https://dl.doubtnut.com/l/_DOwhFD4EjpLo
https://dl.doubtnut.com/l/_Lr37cc90WG4x


Answer: B

Watch Video Solution

132. The number of nine nonzero digits such that all
 the digits in the

first four places are less than the digit in the middle and
all the digits

in the last four places are greater than that in the middle is
a. 
b. 


c. 
d. 

A. 48

B. 576

C. 8!

D. none of these

Answer: B

Watch Video Solution

2(4!)

3(7!) /2 2(7!) ^ 4P4 ×4 P4

https://dl.doubtnut.com/l/_Lr37cc90WG4x
https://dl.doubtnut.com/l/_YTfs9kRl7iha
https://dl.doubtnut.com/l/_NpvKeazznlev


133. The number of ways in which 20 different pearls of two colours

can be set alternately on a necklace, there being 10 pearls of each

colour, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

9! × 10!

5 × (9!)2

(9!)2

134. There are n seats round a table numbered . The

number of ways in which  persons can take seats is

A. 

B. 

1, 2, 3, ..., n

m( ≤ n)

(n)Cm

nCm × m !

https://dl.doubtnut.com/l/_NpvKeazznlev
https://dl.doubtnut.com/l/_PRAEbqBKVSws


C. 

D. 

Answer: B

Watch Video Solution

(m − 1) !

(m − 1) ! × (n − 1) !

135. A shopkeeper sells three varieties of perfumes and he has a large

number of bottles of the same size of each variety in his stock. There

are 5 places in a row in his showcase. The number of different ways of

displaying the three varieties of perfumes in the show case, is

A. 6

B. 50

C. 150

D. none of these

Answer: C

https://dl.doubtnut.com/l/_PRAEbqBKVSws
https://dl.doubtnut.com/l/_ePK3DUfQIgQj


Chapter Test

Watch Video Solution

136. If , the number of different selections of  things

taking r at a time, where p things are identical and q other things are

identical, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

r > p > q p + q

p + q − r

p + q − r + 1

r − p − q + 1

https://dl.doubtnut.com/l/_ePK3DUfQIgQj
https://dl.doubtnut.com/l/_CXdko4y2Qjq7


1. 7 women and 7 men are to sit round a circulartable such that there

is a man on either side ofevery women. The number of seating

arrangements is

A. 

B. 

C. 

D. 7!

Answer: C

Watch Video Solution

(7!)2

(6!)2

6! × 7!

2. There are 
white and 
black
balls, each set numbered 


The number
of ways in which the balls can be arranged in

a row so that the adjacent
balls are of different colors is
a. 

b. 
c. 
d. 

(n + 1) (n + 1)

1 → n + 1.

(2n + 2) !

(2n + 2) ! × 2 (n + 1) ! × 2 2{(n + 1) !}2

https://dl.doubtnut.com/l/_vyUfQGOhoLCK
https://dl.doubtnut.com/l/_flmAAK8X0BBl


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2n + 2) !

(2n + 2) ! × 2

(n + 1) ! × 2

2{(n + 1) !}2

3. 12 persons are to be arranged to a round table. If two particular

persons among them are not to be side by side, the total number of

arrangements, is

A. 

B. 

C. 

D. 

9(10!)

2(10!)

45(8!)

10!

https://dl.doubtnut.com/l/_flmAAK8X0BBl
https://dl.doubtnut.com/l/_986ABRE9kpdd


Answer: A

Watch Video Solution

4. The number of committees of 5 persons consisting of at least one

female number, that can be formed from 6 males and 4 females, is

A. 246

B. 252

C. 6

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_986ABRE9kpdd
https://dl.doubtnut.com/l/_oi1YaELTASNB


5. The number of ways in which a team of 11 players can be selected

from 22 players .including 2 of them and excluding 4 of them is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

16C11

16C5

16C9

20C9

6. In a football championship, 153 matches were played. Every two

teams played one match with each other. The number of teams,

participating in the championship is …….. .

A. 17

https://dl.doubtnut.com/l/_p61QG6FD3Ssa
https://dl.doubtnut.com/l/_4PsUtZsu52yW


B. 18

C. 9

D. none of these

Answer: B

Watch Video Solution

7. How many numbers between 5000 and 10,000 can be formed using

the digits 1,2,3,4,5,6,7,8,9, each digit appearing not more than once in

each number?

A. 

B. 

C. 

D. 

Answer: A

5 × 8P3

5 × 8C8

5! × 8P3

5! × 8C3

https://dl.doubtnut.com/l/_4PsUtZsu52yW
https://dl.doubtnut.com/l/_ZDtda56EZ23D


Watch Video Solution

8. If x, y and r are positive integers, then

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

xCr + xCr− 1 + yC1 + xCr− 2
yC2 + ...... + yCr =

x !y !

r !

(x !y !)

r !

x+yCr

xyCr

9. In how many ways can 5 red and 4 white balls be drawn from a bag

containing 10 red and 8 white balls

https://dl.doubtnut.com/l/_ZDtda56EZ23D
https://dl.doubtnut.com/l/_Yyr2NlnTTpcC
https://dl.doubtnut.com/l/_jHBImJlyOadv


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

8C5 × 10C4

10C5 × 8C4

18C9

10. All the letters of the word  are arranged in all possible

ways. The number of such arrangements in which no two vowels are

adjacent to each other is

A. 360

B. 144

C. 72

D. 54

EAMLET

https://dl.doubtnut.com/l/_jHBImJlyOadv
https://dl.doubtnut.com/l/_CwRds9nPQ4la


Answer: C

Watch Video Solution

11. There are 10 lamps in a hall.Each one of them can be switched on

independently.Find the number of ways in which the hall can be

illuminated.

A. 

B. 1023

C. 

D. 10!

Answer: B

Watch Video Solution

102

210

https://dl.doubtnut.com/l/_CwRds9nPQ4la
https://dl.doubtnut.com/l/_rbnXAjuk41oB


12. How many 10-digit numbers can be formed by using digits 1 and 2

A. 

B. 

C. 

D. 10!

Answer: B

Watch Video Solution

10C1 + 9C2

210

102

13. The straight lines  are paralled and lie in the same plane. A

total number of m point are taken on  points on , k points on .

The maximum number of triangles formed with vertices at these

points are

A. 

I1, I2, I3

I1, n I2 I3

m+n+kC3

https://dl.doubtnut.com/l/_VihfXKsdboLv
https://dl.doubtnut.com/l/_HfFkQGhNhs1f


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

m+n+kC3 − mC3 − nC3 − kC3

mC3 + nC3 + kC3

14. The number of parallelograms that can be formed from a set of

four parallel lines intersecting another set of three parallel lines is:

A. 6

B. 18

C. 12

D. 9

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_HfFkQGhNhs1f
https://dl.doubtnut.com/l/_ICHnNTTw6Yzz


Watch Video Solution

15. The number of diagonals that can be drawn by joining the vertices

of an
octagon is

A. 28

B. 48

C. 20

D. none of these

Answer: C

Watch Video Solution

16. The sum of the digits in the unit place of all numbers formed with

the help of 3,4,5,6 taken all at a time is

A. 432

https://dl.doubtnut.com/l/_ICHnNTTw6Yzz
https://dl.doubtnut.com/l/_MXcTDFduTffp
https://dl.doubtnut.com/l/_dQCFZW3yjuG8


B. 108

C. 36

D. 18

Answer: B

Watch Video Solution

17. In an
 examination there are three multiple choice questions and

each question has 4
 choices. The number of ways in which a student

can fail to get all answers
correct is
(a) 11 (b) 27 (c) 12 (d) 63

A. 11

B. 12

C. 27

D. 63

Answer: D

https://dl.doubtnut.com/l/_dQCFZW3yjuG8
https://dl.doubtnut.com/l/_JQkF5EUNjCaO


Watch Video Solution

18. There are 10 points in a plane, out of these 6 are collinear. The

number of triangles formed by joining these points, is

A. 100

B. 120

C. 150

D. none of these

Answer: A

Watch Video Solution

19. Ramesh has 6 friends. In how many ways can be invite one or more

of them at a dinner ? (A) 61
(B) 62
(C) 63
(D)64

https://dl.doubtnut.com/l/_JQkF5EUNjCaO
https://dl.doubtnut.com/l/_a2xJui9yuLd2
https://dl.doubtnut.com/l/_vldVkqawAJP0


A. 61

B. 62

C. 63

D. 64

Answer:

Watch Video Solution

20. Let  stand for  then  is

equal to

A. 

B. n!

C. 

D. none of these

Pm mPm 1 + P1 + 2P2 + 3P3 + ....... + nPn

(n − 1!)

(n + 1) ! − 1

https://dl.doubtnut.com/l/_vldVkqawAJP0
https://dl.doubtnut.com/l/_jyoa6ShcKkpD


Answer:

Watch Video Solution

21. The number of ways four boys can be seated around a round talble

in four chairs of ditterent colours, is

A. 24

B. 12

C. 23

D. 64

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jyoa6ShcKkpD
https://dl.doubtnut.com/l/_oAhjFW1QYRlz


22. We are required to form different words with the help of the word

INTEGER. Let  be the number of words in which I and N are never

together and  be the number or words which begin with and I and

end with R, then 

A. 42

B. 30

C. 6

D. 

Answer: B

Watch Video Solution

m1

m2

m1

m2

1/30

23. A candidate is required to answer 6 out of 10
questions, which are

divide into two groups, each
 containing 5 questions. He is not

permitted to attempt more than 4 questions
 from either group. The

https://dl.doubtnut.com/l/_SgNzJ3rvabON
https://dl.doubtnut.com/l/_kFUKQ3SieqJB


number of different ways in which the candidate can
 choose 6

questions is
a. 
b. 
c. 
d. 

A. 200

B. 150

C. 100

D. 50

Answer: A

Watch Video Solution

50 150 200 250

24. The number of ways in which 6 men and 5 women can dine at a

round table if no two women are to sit together is given by

A. 

B. 

C. 30

7! × 5!

6! × 5!

https://dl.doubtnut.com/l/_kFUKQ3SieqJB
https://dl.doubtnut.com/l/_3ibY6YohclQL


D. 50

Answer: B

Watch Video Solution

25. A student is to answer 10 out of 13 questions in an examination

such that he must choose at least 4 from the first five questions. The

number of choices available to him is

A. 346

B. 140

C. 196

D. 280

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3ibY6YohclQL
https://dl.doubtnut.com/l/_f7APdQLi36F5


26. Write the number of all possible words that can be formed using

the
letters of the word MATHEMATICS.

A. 

B. 11!

C. 

D. none of these

Answer: A

Watch Video Solution

11!

2!2!2!

11C1

27. In a group of boys, two boys are brothers and six
 more boys are

present in the group. In how many ways can they sit if the
brothers are

not to sit along with each other?
a. 
b. 
c. 

d. none of these

A. 4820

2 × 6! ^ 7P2 × 6! ^ 7C2 × 6!

https://dl.doubtnut.com/l/_Jkv6PAr4QRRV
https://dl.doubtnut.com/l/_YOEgPjhGXNdP


B. 1410

C. 2830

D. none of these

Answer: D

Watch Video Solution

28. Nishi has 5 coins, each of the different denomination. Find the

number
different sums of money she can form.

A. 32

B. 25

C. 31

D. none of these

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_YOEgPjhGXNdP
https://dl.doubtnut.com/l/_soYuJZ2owZ0z


Watch Video Solution

29. Write the number of ways in which 5 boys and 3 girls can be seated

in a
row so that each girl is between 2 boys.

A. 2880

B. 1880

C. 3800

D. 2800

Answer: A

Watch Video Solution

30. how many different nine digit numbers can be formed from the

number  by rearranging its digits so that the odd digits

occupy even positions:

223355888

https://dl.doubtnut.com/l/_soYuJZ2owZ0z
https://dl.doubtnut.com/l/_h1TKa2W2ff7D
https://dl.doubtnut.com/l/_utRMzwzKaOmJ


A. 7560

B. 180

C. 16

D. 60

Answer: D

Watch Video Solution

31. The number of 4 digit even numbers that can be formed using 0, 1,

2, 3, 4, 5, 6 without repetition is

A. 120

B. 300

C. 420

D. 20

https://dl.doubtnut.com/l/_utRMzwzKaOmJ
https://dl.doubtnut.com/l/_ptaqsjz5sTkG


Answer: C

Watch Video Solution

32. The number of ways in which n ties can be selected from a rack

displaying 3n different ties, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3n !

2n !

3 × n !

(3n) !

3!

n !2n !

https://dl.doubtnut.com/l/_ptaqsjz5sTkG
https://dl.doubtnut.com/l/_lz2FLVcCbItN


33. There are n-points  in each to two parallel lines. Every point

on one line is joined to every point on the other line by a line segment

drawn within the lines. The number of point (between the lines) in

which these segments intersect, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(n > 2)

2nC2 − 2. nC1 + 2

2nC2 − 2 × nC2

nC2 × nC2

34. The maximum number of points of intersection of 8 circles is

A. 16

https://dl.doubtnut.com/l/_NKJ48EgLHyPf
https://dl.doubtnut.com/l/_iILgsijghbBW


B. 24

C. 28

D. 56

Answer: D

Watch Video Solution

35. The maximum number of points of intersection into which 4 circles

and 4 straight lines intersect, is

A. 26

B. 50

C. 56

D. 72

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_iILgsijghbBW
https://dl.doubtnut.com/l/_D40bda0tMPNn


Watch Video Solution

36. In a circket charmpionship there are 36 matches. The number of

teams if each plays one match with other, is

A. 8

B. 9

C. 10

D. none of these

Answer: B

Watch Video Solution

37. The expression 

A. 

nCr + 4. nCr− 1 + 6. nCr− 2 + 4. nCr− 3 + nCr− 4

n+ 4Cr

https://dl.doubtnut.com/l/_D40bda0tMPNn
https://dl.doubtnut.com/l/_2VPES5WCTbzu
https://dl.doubtnut.com/l/_E3Myx8joRtyz


B. 

C. 

D. 

Answer: A

Watch Video Solution

2.n+ 4 Cr− 1

4.n Cr

11.n Cr

38. The total number of numbers greater than 100 and divisible by 5,

that can be formed from the digits 3, 4, 5, 6 if no digit is repeated, is

A. 24

B. 48

C. 30

D. 12

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_E3Myx8joRtyz
https://dl.doubtnut.com/l/_hngJktFr9id2


Watch Video Solution

39. Find the number of words that can be made out of the letters of

the
word MOBILE when consonants always occupy odd places.

A. 20

B. 36

C. 30

D. 720

Answer: B

Watch Video Solution

40. Number of numbers greater than 24000 can be formed by using

digits 1,2,3,4,5 when no digit being repeated is

A. 36

https://dl.doubtnut.com/l/_hngJktFr9id2
https://dl.doubtnut.com/l/_TVo3Y9BTmWyh
https://dl.doubtnut.com/l/_EhmWH5yGMEAZ


B. 60

C. 84

D. 120

Answer: C

Watch Video Solution

41. Write the number of words that can be formed out of the letters of

the word COMMITTEE.

A. 

B. 

C. 

D. 9!

Answer: A

W t h Vid S l ti

9!

(2!)3

9!

(2!)2

9!

2!

https://dl.doubtnut.com/l/_EhmWH5yGMEAZ
https://dl.doubtnut.com/l/_biI6CMX7c9ay


Watch Video Solution

42. How many different committees of  can be formed from  men

and  women
on which exact  men and  women serve?

A. 6

B. 20

C. 60

D. 120

Answer: D

Watch Video Solution

5 6

4 3 2

43. The number of ways to rearrange the letters of the word CHEESE is

A. 120

B. 240

https://dl.doubtnut.com/l/_biI6CMX7c9ay
https://dl.doubtnut.com/l/_TeiCptf5eCQj
https://dl.doubtnut.com/l/_zJ7vn9JL8rpq


C. 720

D. 6

Answer: A

Watch Video Solution

44. If 
 then the values of 
 are



b. 
c. 
d. 

A. 7 and 11

B. 6 and 7

C. 2 and 11

D. 2 and 6

Answer: B

Watch Video Solution

 k+ 5Pk+ 1 = . k+ 3Pk  Pk

11(k − 1)

2
k

7 and 11 6 and 7 2 and 11 2 and 6

https://dl.doubtnut.com/l/_zJ7vn9JL8rpq
https://dl.doubtnut.com/l/_WpiiuabKa3QC


45. Find the number of proper factors of the number 38808. Also, find

sum of all these divisors.

A. 70

B. 72

C. 71

D. none of these

Answer: A

Watch Video Solution

46. In a party
15 people shake their hands with each other. How many

times did the
hand-shakes take place?

A. 

B. 

15P2

15C2

https://dl.doubtnut.com/l/_sYI9BcaLm7Zn
https://dl.doubtnut.com/l/_VS9Cru49nhMC


C. 15!

D. 

Answer: B

Watch Video Solution

2 × 15!

47. The number of ways in which 5 beads of different colours can be

made into a necklace is

A. 12

B. 120

C. 60

D. 24

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VS9Cru49nhMC
https://dl.doubtnut.com/l/_Kqg7GNImBR1W


48. Find number of ways that 8 beads o different colors be
strung as a

necklace.

A. 2520

B. 2880

C. 5040

D. 4320

Answer: A

Watch Video Solution

49. There are n points in a plane of which 'p' points are collinear. How

many lines can be formed from these points

A. 

B. 

nC2 − pC2 + 1

nC2 − pC2

https://dl.doubtnut.com/l/_mCluARaL1KOx
https://dl.doubtnut.com/l/_PoUJBuqWZNBw


C. 

D. 

Answer: A

Watch Video Solution

n − pC2

nC2 − pC2 − 1

50. The number of 4 digit even numbers that can be formed using 0, 1,

2, 3, 4, 5, 6 without repetition is

A. 120

B. 300

C. 420

D. 20

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PoUJBuqWZNBw
https://dl.doubtnut.com/l/_U8SPwjDF1Xy9


51. The number of ways in which 21 objects can be grouped into three

groups of 8, 7, and 6 objects,is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

20!

8! + 7! + 6!

21!

8!7!

21!

8!7!6!

21!

8! + 7! + 6!

52. Let  be two lines intersecting at P If  are

points on  are points on  and if none of

these coincides with P, then the number of triangles formed by these 8

points is

A. 56

L1 and L2 A1, B1, C1

L1, A2, B2, C2, D2, E2 L2

https://dl.doubtnut.com/l/_SNeonnHavbTa
https://dl.doubtnut.com/l/_i7G54htFu6tS


B. 55

C. 46

D. 45

Answer: D

Watch Video Solution

53. Consider the fourteen lines in the plane given by y=x+r, y=-x+r,

where . The number of squares formed by these

lines whose diagonals are of length 2, is

A. 9

B. 16

C. 25

D. 36

Answer: C

r ∈ {0, 1, 2, 3, 4, 5, 6}

https://dl.doubtnut.com/l/_i7G54htFu6tS
https://dl.doubtnut.com/l/_l9b29qitCJcx


Watch Video Solution

54. How many words can be formed out of the letters of the word,

ARTICLE,
so that vowels occupy even places?

A. 574

B. 36

C. 754

D. 144

Answer: D

Watch Video Solution

55. The number of ways in which 9 persons can be divided into three

equal groups is

https://dl.doubtnut.com/l/_l9b29qitCJcx
https://dl.doubtnut.com/l/_yvfSjnPrwkM3
https://dl.doubtnut.com/l/_YtENkarAMgd7


A. 1680

B. 840

C. 560

D. 280

Answer: D

Watch Video Solution

56. A dictionary is printed consisting of 7 lettered words only that can

be made with letters of the word ''CRICKET''. If the words are printed in

the alphabetical order, as in the ordinary dictionary, then the number

of words before the word CRICKET, is

A. 530

B. 480

C. 531

https://dl.doubtnut.com/l/_YtENkarAMgd7
https://dl.doubtnut.com/l/_byY6UFJZKK2m


D. 481

Answer: A

Watch Video Solution

57. The number of times the digit 5 will be written when listing the

integers from 1 to 1000, is

A. 271

B. 272

C. 300

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_byY6UFJZKK2m
https://dl.doubtnut.com/l/_B38SPxQN8g3k


58. How many numbers lying between  and  can be formed

with the help of the digit  when the digits are not to be

repeated

A. 100

B. 200

C. 300

D. 400

Answer: C

Watch Video Solution

999 10000

0, 2, 3, 6, 7, 8

59. The number of different words that can be formed from the letters

of the word 'PENCIL', so that no two vowels are together, is

A. 120

https://dl.doubtnut.com/l/_7fx83ohWFksf
https://dl.doubtnut.com/l/_7ZdLVncnBMya


B. 260

C. 240

D. 480

Answer: C

Watch Video Solution

60. How many four digit numbers can be formed using digits 1, 2, 3, 4, 5

such that at least one of the number is respeated?

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

44 − 5!

45 − 4!

54 − 4!

54 − 5!

https://dl.doubtnut.com/l/_7ZdLVncnBMya
https://dl.doubtnut.com/l/_65GWkWbu2a2i


Watch Video Solution

https://dl.doubtnut.com/l/_65GWkWbu2a2i

